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Success is where Preparation and Correct Strategy meets.

KSG is proud to announce its PT Diagnostic booklet — The KSG 10,000. This provides the required
inputs to the aspirants wherein they can assess and improve for the upcoming PT exam 2024.

UPSC, over the years has dynamically changed the nature of questions. The dictum goes-anything
under the sky can be asked. We at KSG have deciphered the domain of Questions in macro, meso and the
micro forms. Macro Level of Questions would be such that would check candidates’ knowledge across the
width of the ocean like syllabus. It is the broad trend that is changing over time. Micro level would test ‘Trench
like depth’ of knowledge and one can easily swim over them. The majority belongs to Meso level, from which
questions are expected almost each year. One needs to master this and clear P.T. Here, the KSG aims at honing
those skills that can be acquired by the candidate individually. This level is relatively easier to prepare and
ensure success.

The KSG 10,000 booklet comprises of 100 sets of 100 Questions in Four parts, Book 1 & 2. Each
question paper set would be comprehensive in nature, consisting of the questions from almost all the broad
topics (meso trend) mentioned under UPSC Syllabus. After solving a paper candidate is expected to check
their answers using the key given after each test. One can diagnose their preparation through LMG (Low,
Moderate, Good) score for assessing their preparation with regard to each sub-segment of the syllabus.

After each test one can identify the areas of weakness & strength. Now through each successive test
candidates’ duty is to strengthen the fields diagnosed earlier. By the end of the tests the aspirants are expected
to reach to a level that they feel confident and clear the Preliminary Examination.

The scheme of the KSG 10,000 is such that it guides the candidate through the entire process of
preparation so that one stands diagnosed on individual basis.

Our Research team at Delhi will be pleased to guide further. You can contact us at #9667779058 or mail your
query at ktp@ksgindia.com.
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Subject Tag | Topic Subtopic
History H1 Ancient Stone age; Chalcolithic period; Harappan civilization; Aryans & Rig Vedic period; Later Vedic phase,
History + Art Jainism, Buddhism, Magadha Empire, Iranian and Macedonian invasion; Mauryan period; Central
& culture Asian contacts; Satvahanas; Southern kingdoms; Gupta period; Harsha period, Tripartite struggle +
Art and culture
H> | Medieval Cholaempire; Turks, Delhi Sultanate, Vijayanagara empire &Bahamani kingdom; the Mughal empire
History + Art & its downfall+ Art and culture
& culture
Hs Modern Decline of Mughal empire; European Invasion; British empire in India, Socio-religious reform; Revolt
History + Art of 1857 and period till 1885, Civil rebellions & tribal uprisings; INC-foundation; Indian National
& culture Movement 1885-1915; Gandhian era till independence; socio-economic reform; swadeshi movement;
split in congress; revolutionary terrorism and world war; home rule movement; NCM; Swarajists, no
changers; CDM; Cripps movement; quit India movement, INA; freedom & partition+ Art and culture
Polity P4 Constitutional Historical Background, Making of the Constitution, Salient Features of the Constitution, Preamble of
& political the Constitution, Union and its Territory,
system + Citizenship, Fundamental Rights, Directive Principles of State Policy, Fundamental Duties,
Constitutional | Amendment of the Constitution, Basic Structure of the Constitution, Parliamentary System, Federal
Amendments System, Centre-State Relations, Inter-State Relations, Emergency Provisions, President, Vice-
+ Governance President, Prime Minister, Central Council of Ministers, Cabinet Committees, Parliament,
& Parliamentary Committees, Parliamentary Forums, Parliamentary Group, Governor, Chief Minister,
Administration | State Council of Ministers, State Legislature
P> Judiciary + Supreme Court, Judicial Review, Judicial Activism, Public InterestLitigation, , High Court, Subordinate
legal right Courts
issues
P3 Panchayati Raj | Special Provisions for Some States, Panchayati Raj, Municipalities, Union Territories, Scheduled and
+ public policy | Tribal Areas, Election Commission, Union Public Service Commission, State Public Service
+ Acts & bills Commission, Finance Commission, National Commission for SCs, National Commission for STs,
+ Special Officer for Linguistic Minorities, Comptroller and Auditor General of India, Attorney General
Constitutional | of India, Advocate General of the State, NITI Aayog, National Human RightsCommission, State Human
& statutory Rights Commission, Central Information Commission, State Information Commission, Central
bodies + other | Vigilance Commission,
Central Bureau of Investigation, Lokpal and Lokayuktas, Co-operative Societies, Official Language,
Public Services, Tribunals, Rights and Liabilities of the Government, Authoritative Text of the
Constitution in Hindi Language, Special Provisions Relating to Certain Classes, Political Parties,
Elections, Voting Behaviour, Election Laws, Electoral Reforms, Anti-Defection Law, Pressure Groups,
National Integration, Foreign Policy, National Commission to Review the Working of the Constitution.
Geography G1 Physical Earth-Origin & Evolution; Earth's Interior; Distribution of Oceans and Continents; Minerals and Rocks;
geography + Geomorphic Processes; Landforms and their Evolution; Atmosphere; Solar Radiation, Heat Balance
World and Temperature; Atmospheric Circulation and Weather Systems; Water in the Atmosphere;
geography World Climate & Climate Change; Oceans & It's movement; Life on the Earth; Biodiversity and
Conservation, Questions Based on Map,Human Geography Nature & Scope; The World Population;
Population Composition; Human Development; Primary, Secondary, Tertiary and Quaternary
Activities; Transport & Communication; International Trade; Human Settlement Population:
Distribution, Density, Growth & Composition; Migration; Land Resources & Agriculture; Water
Resources; Mineral and Energy Resources; Manufacturing Industries; Planning and Sustainable
Development (Indian); Transport & Communication; International Trade,Earth& universe; Earth's
crust; Vulcanism & Earthquakes; Weathering, Mass movement & Groundwater; Landform by running
water, Glacial landforms; Arid landforms; Karst landform; Lake; Coastal landform; Islands & Coral reefs;
Ocean; Weather Climate & It's types (vegetation, flora & fauna, economic development etc.)
Gz Indian India-Location; Structure and Physiography; Drainage System; Climate; Natural Vegetation; Soils;
geography Natural Hazards and Disasters, Questions Based on Map India-Location; Structure and Physiography;
Drainage System; Climate; Natural Vegetation; Soils; Natural Hazards and Disasters, Questions Based
on Map
Gs3 Agriculture Agriculture and allied sectors + other topics
and allied
sectors +
other topics
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Economy E1 Banking and Indian Banking System, Small Finance Banks, Payment Banks, Terminologies/Concepts Related to
Financial Banking in India, Monetary Policy in India, Instruments of Monetary Policy, Land reforms in India,
sector Agriculture in India, Agricultural market policy, Subsidy, Minimum Support Price etc, Food

Processing Sector in India, Indian Industry, Transportation in India, Money and Banking, Institutions
+ related to Economy (National and International), International Trade, Trade Policy, Balance of
Other Payments, Foreign Capital, Ease of Doing Business, Money Market in India, Capital Market in India.
Economic
Activities
E Fundamentals | Indian Economy in Pre-independence Period, Economy on Eve of Independence, Challenges, Phases
of Economy + of Economic Development in India, Economic Reforms Since 1991,Financial inclusion as an instrument
Elementary of | of inclusive growth, Poverty Alleviation and Employment Generation, Regulatory Framework in India,
economy+ Employment and Unemployment, Human Capital formation in India, Rural Development,
Indian Infrastructure, Key terms related to Macro and Micro economics, National Income Accounting,
Economy Budget terminology, Types of budget, Features of outcome budgeting, Fiscal Policy in India,
Important Budgetary Terms Fiscal Concept, Government Revenues &amp; Spending, Deficits, Tax
System in India, GST.
Es Sustainable Poverty, Unemployment and other topics
development
+ other topics

Science & Si General Application of Science in Everyday Life; Genetics & Biotechnology; Bio fuels; Conventional & Non-

Technology science + Conventional sources of Energy; Sustainable Agriculture; Agricultural Practices & Techniques
Diseases

Sz Science & GM Crops; New Developments in field of Science & Technology; Space Technology; Defense
Technology Exercises; Nano science & technology,

Environment EN+ Basic Concepts of Environment & Ecology; Biomes; Coral reefs; Mangroves; Biodiversity & Key

Environment Concepts;
& ecology +
biodiversity

EN. | Climate Biodiversity Conservation efforts; Global Warming; Waste Management & Related Issues; Pollution;
change + Pollution control & measures; Water Resources & Related issues; Coastal Ecosystem Management,
Environmental | Sustainable Development Goals; Wetlands; Species & Habitats, Important Conventions related to
pollution + Environment & Ecology; Important Environmental Bodies (National & International)
Environmental
conservation
initiatives
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. Test-51

1. In the context of Indian History, the
Chipko Movement was associated with:
(a) Tribal Uprising
(b) Women agitation during Swadeshi
movement
(c) Environment degradation
(d) Socio-religious reform movement

2. Which of the following statement is the
correct description of the term
‘Asprishya?

(@) A group of people treated as
untouchables in the traditional caste
system.

(b) Aform of social organisation based on
the system of patriarchy.

(c) A communal system where the victims
are majority religious groups.

(d) A monarchical reign that is based on
tyranny and despotism.

3. Consider the following statements
regarding the criticisms of Indian
Secularism:

1. It overtly protects religious identity.

2. It encourages the politics of vote
banks.

3. It is interventionist and coercive in
nature.

How many of the statements given above

are correct?

(a) Only one

(c) All three

(b) Only two
(d) None

4. With reference to the Indian notion of
secularism, consider the following
statements:

1. The secular character of the Indian
state is established by its virtue of
being essentially theocratic.

2. The Indian state has the scope to
engage with religion negatively to
oppose religious tyranny.

Which of the statements given above

is/are correct?

(@) 1 only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

5. “He was a literary writer and close
associate of Gandhi. He was the
member of constituent assembly. He
was the first Indian to become
Governor General of India. He was the
first recipient of the Bharat Ratna
Award.”

The above description refers to:
(a) C.Rajagopalachari

(b) K.M. Munshi

(c) Sardar Vallabhbhai Patel

(d) Jawahar Lal Nehru

6. With reference to Dr. B.R. Ambedkar,
consider the following statements:
1. He was the founder of Independent
Labour Party.

10.

11.

2. He was a member of viceroy's
executive council during the World
War IL.

3. He planned the formation of
Republican Party of India.

How many of the statements given above

are correct?

(@) Only one

(c) All three

(b) Only two
(d) None

With reference to the First General

Election of Independent India, consider

the following statements:

1. Communist Party of India won more
seats than Socialist Party.

2. It was postponed thrice before
holding in the year 1951.

3. Only 15% of the eligible voters were
literate during first general election.

How many of the statements given above

are correct?

(@) Only one

(c) All three

(b) Only two
(d) None

Consider the following pairs regarding
the integration of Princely States in
Independent India:

Princely State :Means of accession

1. Junagarh : Referendum

2. Hyderabad : Police Action

3. Jammu & Kashmir : Plebiscite

How many of the pairs given above are

incorrectly matched?
(@) Only one (b) Only two
(c) All three (d) None

Who among the following was known
as Frontier Gandhi during the Indian
freedom struggle?

(a) Khan Abdul Gaffar Khan

(b) Sardar Patel

(c) Subhash Chandra Bose

(d) Pattabhi Sitaramayya

Consider the following statements
regarding the Bombay Plan in the
British India:

1. It was launched as a part of planned
economy in the year 1944.

2. It was mainly led by government
officials.

3. It wanted the government to take
major initiatives in  industrial
investment.

How many of the statements given above

are correct?

(@) Only one (b) Only two

(c) All three (d) None

With reference to Rabindranath

Tagore, consider the following

statements:

1. He opposed western civilisation.

2. He was a critique of narrow
expressions of nationalism.

3. He was an ardent believer of
‘patriotism’.

www.ksgindia.com

12.

13.

14.

15.

16.

How many of the statements given above
are correct?
(@) Only one
(c) All three

(b) Only two
(d) None

Consider the following pairs:
Provisions borrowed Country

1. The idea of Residual Powers : Canada
2. Institution of the Speaker : South Africa
3. Power of Judicial Review :USA

4. First Past the Post System Ireland
How many pairs given above is/are
correctly matched?

(@) Only one pair

(b) Only two pairs

(c) Only three pairs

(d) All the above pairs

Which of the following is true with
respect to a Constitution being
described as ‘a living’ document?

(@) The constitution ensures that no
single institution acquires monopoly
of power.

(b) The constitution which preserves the
freedom and equality of all the people
of a country.

(c) The constitution that creates
intelligent system of checks and
balances.

(d) The constitution which strikes the
right balance between preserving core
values and adapting them to new
circumstances.

Prohibition of forced labour and

Prohibition of employment of children

in hazardous jobs are protected under

which of the following categories of

Fundamental Rights?

(@) Right to Constitutional remedy

(b) Rightto liberty and Personal freedoms

(c) Right against exploitation

(d) Cultural and educational Rights of
minority groups

Consider the following statements with
reference to the National Human
Rights Commission (NHRC):

1. The commission’s function is to
inquire a case only on a petition
presented to it and not at its own
initiative.

2. The commission does not have the
power of prosecution and is merely a
recommendatory body.

Which of the statements given above

is/are correct?

(@ 1only

(c) Both 1and?2

(b) 2 only
(d) Neither 1 nor 2

Consider the following statements with

reference to the Plurality System of

Elections:

1. The winning candidate need not
secure a majority of the votes.
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17.

18.

19.

20.

2. The candidate who is ahead of others,
who crosses the winning post first of
all, is the winner.

3. In this system, a party gets the same
proportion of seats as its proportion
of votes.

How many of the statements given above

are correct?

(a) Only one

(c) All three

(b) Only two
(d) None

Which of the following statements is
incorrect regarding the form of
Government in different countries?

(@) France follows the semi-presidential
system where the president appoints
the prime minister as well as the
ministers but cannot dismiss them as
they are responsible to the parliament.

(b) Japan has a parliamentary system with
the Emperor as the head of the state
and the prime minister as the head of
government.

(c) Italy has a Presidential system and
executive powers are in the hands of
the president.

(d) Germany has a parliamentary system
in which president is the ceremonial
head of state and the chancellor is the
head of government

Consider the following provisions:

1. One third of the positions are reserved
for women.

2. Reservations for Scheduled Castes
and Scheduled Tribes in proportion to
their population.

3. Reservations for the backward castes
(OBCs) in proportion to their
population.

How many of the above are mandated by

the Indian Constitution with reference to

reservation to Local bodies?

(a) Only one (b) Only two
(c) All three (d) None
Which of the following statements best

reflects the significance of Political

theory?

(@) It is confined to the idea of how
governments are formed and how
they function.

(b) It deals with the idea of contesting
elections to gain political power by
the political parties.

(c) It trains citizens to think rationally
about political questions and correctly
assess political events.

(d) It explains the relationship between
different religions in the society.

Which of the following best describes

Mahatma Gandhi's Idea of Swaraj?

(@) Rule of the self

(b) Rule over the self

(c) Rule by the people

(d) Rule for the people

21.

22.

23.

24.

25.

Consider the following statements with

reference to the concept of Freedom:

1. Positive dimension of freedom is to
reduce or minimize social constraints
that limit our ability to make choices

freely.
2. Negative dimension of freedom
allows full development of the

individual's creativity, sensibilities and
capabilities.
Which of the statements given above
is/are incorrect?
(@ 1 only
(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

Consider the following statements:

1. Political equality is sufficient to build a
just and egalitarian society.

2. Social Equality provides for equality of
opportunities for every individual in a
society.

3. Absolute equality of wealth or income
can never exist in a society.

How many of the statements given above

are correct?

(@) Only one

(c) All three

(b) Only two
(d) None

Consider the following statements with

reference to Natural Inequalities:

1. Natural inequalities are those that
emerge between people as a result of
their different capabilities and talents.

2. Natural inequalities are created by
society.

3. Natural Inequalities are difficult to be
altered.

How many of the statements given above

are correct?

(@) Only one

(c) All three

(b) Only two
(d) None

The Idea of Seven Revolutions or Sapta
Kranti to fight inequalities in India was
given by:

(a) Jayaprakash Narayan

(b) Achyut Patwardhan

(c) K Kamaraj

(d) Ram Manohar Lohia

Consider the following pairs:
Type of Rights Description

1. Natural Right These rights are
inalienable and no one can take these
away from us

2. Political rights : The right to equality
before law and the right to participate
in the political process

3. Civil Rights The right to a free
and fair trial, the right to express one’s
views freely.

How many pairs given above is/are

correctly matched?

(@) Only one pair

(b) Only two pairs

(c) All the three pairs

(d) None of the above

www.ksgindia.com

26.

217.

28.

29.

30.

Consider the following with reference

to a Nation:

1. A Nation is constituted by beliefs.

2. People who see themselves as a
nation also embody a sense of
continuing historical identity.

3. Nations identify with a particular
territory.

4. Members of a nation share a vision of
the kind of state they want to build.

How many of the statements given above

are correct?

(@) Only one

(c) Only three

(b) Only two
(d) All four

Which one of the following statement
is incorrect with regards to The
Western Model of Secularism?

(@) Separation of religion and state is
understood to be based on the
principle of mutual exclusion.

(b) It deals with inter-religious equality
and minority rights.

(c) Religion is a private matter, not a
matter of state policy or law.

(d) This form of mainstream secularism
has no place for the idea of state
supported religious reform.

Consider the following statements with
reference to Intensive Subsistence
Agriculture practice:
This type of agriculture is found in
large parts of Asia.
2. Machinery is widely used in this type
of agriculture.
3. In this agriculture practice, yield per
unit area will be high.
How many of the statements given above
are correct?
(a) Only one
(c) All three

(b) Only two
(d) None

Consider the following statements:

1. West Bengal produces about three-
fourth of Jute production of the
country.

2. Madhya Pradesh and Maharashtra
together produce about 90 per cent of
total output of soyabean in the
country.

Which of the statements given above

is/are incorrect?

(@) 1 only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

Which among the following methods

were followed by Post Independent

India, to increase the availability of

food grains immediately?

(@) Switching over from cash crops to
food crops

(b) Intensification of cropping.

(c) Bringing cultivable and fallow land
under plough.

(d) All of the above.

=
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31.

32,

33.

34.

35.

36.

Consider the following:

1. Promotion of location specific farming
systems.

2. Efficient water management practices.

3. Comprehensive soil health
management.

How many of the above are the
components of the National Mission on
Sustainable Agriculture?

(a) Only one (b) Only two

(c) All three (d) None

Which among the following cropping
season of India largely coincides with
Southwest Monsoon, and becomes a
proper season for the cultivation of
tropical crops in the majority part of
India?

(a) Rabi season

(c) Kharif season

(b) Zaid season
(d) None of these

Consider the following statements with
reference to Land Use
Categories/Processes in India:

1. Fallowing is an agri-cultural practice
adopted for rejuvenation of land
fertility.

2. Culturable  Wasteland,  naturally
having good fertility, can only be
brought under cultivation even
without reclamation practices.

3. Current Fallow land can be brought
under cultivation only after improving
it through reclamation practices.

How many of the statements given above

are correct?

(@) Only one (b) Only two
(c) All three (d) None
In the context of Contemporary India,

what does the term ' Kund or Tanka'

refers to?

(@) Real time tracking of water pollution
levels in Ganga River.

(b) Portal used for registering old age
pensions.

(c) Rain water harvesting structure.

(d) Type of crypto currency in use.

The term "ASEAN Way" refers to:

(@) Reflects the life style of ASEAN
members.

(b) A form of interaction among ASEAN
members that is informal and
cooperative.

(c) The defence policy followed by the
ASEAN members.

(d) The road that connects all the ASEAN
members

Which of the following countries are
parts of the 12U2 grouping?

1. Indonesia 2. India

3. UAE 4. Uzbekistan
Select the correct answer using the codes
below:

(@ Tonly

(c) 2and3only

(b) 1and 3 only
(d) 1,3 and 4 only

37.

38.

39.

40.

41.

42.

43.

Consider the following:

1. Washer men

2. ATM booths

3. Internet cafe

How many of the above form part of
service sector?
(@) Only one
(c) All three

(b) Only two
(d) None

With reference to Maoists, consider the

following statements:

1. These are the communists who
believe only in the ideology of Karl

Marx.

2. They seek to overthrow the
government through an armed
revolution.

3. Their aim is to establish the rule of the
peasants and workers.

How many of the statements given above

are correct?

(@) Only one

(c) All three

(b) Only two
(d) None

The sectors are classified into public

and private sector on the basis of:

(@) Employment conditions

(b) The nature of economic activity

(c) Ownership of enterprises

(d) Number of workers employed in the
enterprise

Consider the following activities:

1. Spinning yarn from Cotton Fibre

2. Making bricks from earth

3. Making Sugar from sugarcane

How many of the above are part of the
secondary sector of economy?

(@) Only one (b) Only two

(c) All three (d) None

Which of the following statements best

describes the term “Utopian”?

(@) A direct vote by which all the people
of a region are asked to accept a
proposal.

(b) A system of rule that has no restraints
on the power exercised.

(c) A vision of a society that is so ideal
that it is unlikely to actually exist.

(d) None of the above

Which of the following phenomenon is

associated with Meissner effect?

(@ The phenomenon of  perfect
diamagnetism in superconductors.

(b) The phenomena of collision between
a photon and an electron.

(c) The rotation of light polarization as it
passes through a magnetic medium.

(d) The phenomena of disappearing of
magnetisation  in  ferromagnetic
materials.

Which of the following organ is
referred to as the graveyard of Red
blood cells in human body?

(a) Liver (b) Heart

www.ksgindia.com

44.

45.

46.

47.

48.

(c) Spleen (d) Pancreas
Consider the following statements:

1. Protein Energy malnutrition

2. Jaundice

3. Diarrhoea

Which of the following system is

associated with the above diseases?
(@) Nervous system

(b) Muscular system

(c) Digestive system

(d) Circulatory system

Consider the following statements:

1. Animal Welfare Board of India is
established under the Environment
(Protection) Act, 1986.

2. Central sector scheme like 'scheme for
birth control and immunization of
stray dogs' are implemented by
Animal Welfare Board of India.

3. Act of any person to willfully and
unreasonably administers any
injurious drug or
injurious substance to any animal falls
under the purview Cruelty to animals
Act 1960.

How many of the statements given above

are correct?

(@) Only one

(c) All three

(b) Only two
(d) None

Consider the following statements:

1. HFCscause global warming as well as
are ozone-depleting.

2. The Kigali Amendment mandates
complete elimination of HFCs by the
year 2050.

Which of the statements given above

is/are correct?

(@) 1 only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

Consider the following Biosphere
Reserves: have been included in the
World Network of Biosphere Reserves
of UNESCO?

1. Nanda Devi 2. Nokrek

3. Manas 4. Pachmarhi

5. Kachchh

How many of the above biosphere
reserves are included in the World
Network of Biosphere Reserves if
UNESCO?

(@) Only two (b) Only three

(c) Only four (d) All five
Consider the following statements

regarding Polymetallic Nodules:

1. Government of India signed a 15 year
contract with International Seabed
Authority (ISA) for exploration of
polymetallic nodules from Central
Indian Ocean Basin (CIOB).

2. Exploration of Gas Hydrates has been
carried out by conducting 3D seismic
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49.

50.

51.

52.

53.

survey in the Krishna-Godavari and
the Mahanadi basins

Which of the statements given above

is/are correct?

(@ 1Only

(b) 2 only

(c) Both 1and?2

(d) None of the above

Consider the
agreements/protocols:

1. Vienna Convention, 1985
2. Montreal Protocol

3. Kigali Agreement

How many of the above were aimed at
protecting the Ozone Layer?

following

(a) Only one (b) Only two
(c) All three (d) None
Bannerghatta National Park is in which

state?
(@) Tamil Nadu
(c) Kerala

(b) Karnataka
(d) Maharashtra

Consider the following statements with

regard to E-Waste:

1. E-waste is categorized as hazardous
waste due to the presence of toxic
materials such as mercury, lead and
brominated flame retardants.

2. E-waste may also contain precious
metals such as gold, copper and
nickel.

3. Basel Convention seeks to address the
issue of E- Wastes.

How many of the statements given above

are correct?

(a) Only one (b) Only two
(c) All three (d) None
With reference to Tropical Evergreen

Rainforest Biome, consider

thefollowing statements:

1. The productivity of this biome is the
highest of all biomes in the world.

2. It contains about 40% of all known
species of plants and animals.

Which of the statements given above

is/are correct?

(@) 1 only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

Consider the following statements
about the functions of Biosphere
Reserves:

1. To conserve the diversity and integrity
of plants and animals within natural
ecosystems.

2. To safeguard genetic diversity of
species on which their continuing
evolution depends.

3. To provide areas for multi-faceted
research and monitoring.

How many of the statements given above

are correct?

(@) Only one

(c) All three

(b) Only two
(d) None

54.

55.

56.

57.

58.

59.

Consider the following statements:

1. A merger is the voluntary fusion of two
companies on broadly equal terms
into one new legal entity.

2. An acquisition is where the company
acquired is fully integrated into the
parent entity.

3. Amalgamation combines two or more
companies into a new entity by
merging their assets and liabilities.

How many of the above statements are

correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Consider the following committees:

1. V.S. Malimath Committee

2. Madhav Menon Committee

3. K.V. Kamath Committee

How many of the above committees were
related to the reforms in the ‘criminal
justice system'?

(@) Only one

(b) Only two

(c) All three

(d) None

‘A-HELP’ programme, recently in the
news, has been unveiled by which one
of the following ministries?

(@ Ministry of Women and Child
Development
(b)  Ministry of Fisheries, Animal

Husbandry & Dairying
(c) Ministry of Health and Family Welfare
(d) Ministry of Rural Development

If one is travelling from India to Iran via
the road along the coastline, the
following are the ports that one will
encounter. Arrange them in sequential
order:

1. Gwadar Port

2. Kandla Port

3. Chabahar Port

4. Bandar Abbas Port

Select the correct option from the codes
given below:

(a) 1-2-3-4

(b) 2-1-4-3

(c) 3-4-2-1

(d) 2-1-3-4

The starting and end points of Asian
Highway 1(AH1) lie in which one of the
following pairs of countries?

(a) Japan and Turkey

(b) Indonesia and Iran

(c) Malaysia and Saudi Arabia

(d) Thailand and Oman

Which of the following is correct

regarding keystone species?

(@) This species arrived to inhabit first
where no life existed earlier.
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60.

61.

62.

63.

64.

(b) These are
primarily and
ecotone.

( A species that has a
disproportionately large effect on its
natural environment relative to its
abundance.

(d) It is the one that reflects the health of
its ecosystem

species which occur
abundantly in an

Nyoma, a place recently seen in the

news, is best related to which one of the

following?

(a) Highest battlefield of the world

(b) Deepest trench found in the Indian
Ocean.

(c) Evidences of first woman hunter are
found here

(d) Advanced landing ground for aircrafts

The ‘Bakhshali manuscript’ is a text
devoted to which one of the following
subjects?

(a) Mathematics
(b) Land grants
(c) Medicine

(d) Philosophy

Which of the following is correct with

reference to Helium?

1. On Earth, helium can be extracted only
from natural gas reserves.

2. It is the second most abundant element
in the Universe.

3. It is synthesized from hydrogen by
nuclear fission.

Select the correct answer using the code

given below:

(@) 1 only

(b) 1 and 2 only

(c) 3 only

(d) 2 and 3 only

With reference to the concept of
Windfall Taxes, consider the following
statements:
1.1t is a levy imposed by a government on
companies that have benefited from
something they were not responsible
for.

2. The major targets of such a tax are oil
and gas companies.

3. Winnings from game shows also come
under windfall taxation.

How many of the above statements are

correct?

(@) Only one

(b) Only two

(c) All three

(d) None

Which of the following are Non-Tariff

barriers to International Trade?

1. Ad Valorem Taxes

2. Anti-Dumping Duties

3. Rules of Origin

4. Sanitary and Phyto-Sanitary Regulations

5. Import Quotas

DELHI VN: 9717380832 &DELHI ORN: 9811293743 | JAIPUR: 8290800441 | BHOPAL: 7509975361| INDORE: 9893772941
| BENGALURU: 7619166663 | HYDERABAD: 79960 66663 | KOLKATA: 9007709895 | IMPHAL: 9650245599

Page /



10000 PT Questions Part — 2 of 2

A

KSG

65.

66.

67.

68.

69.

Select the correct answer using the code
given below:

(@) 1,2 and 4 only

(b) 2,3,4and 5 only

(c) 1,3 and 5 only

(d)1,2,3,4and 5

With reference to the Chandrayaan-3
and the Luna-25, consider the following
statements:

1. Chandrayaan-3 does not carry a rover
unlike Luna-25.

2. The mission life of Chandrayaan-3 is
just 1 lunar day.

3. Chandrayaan-3 will use the slingshot
method whereas Luna-25 uses direct
injection methods.

How many of the above statements are

correct?

(@) Only one (b) Only two
(c) All three (d) None
With reference to the World Health

Organisation (WHO), consider the

following statements:

1. Itis a specialized agency of the United
Nations.

2. All members of the UNO can become
members of WHO.

3. All the funding that WHO gets is
voluntary in nature.

How many of the above statements are

correct?

(@) Only one (b) Only two

(c) All three (d) None

With reference to the recently
announced Vishwakarma Yojana,

consider the following statements:

1. It aims to benefit individuals skilled in
traditional craftsmanship.

2. Beneficiaries of the scheme would
include weavers only.

3. The Overseeing ministry would be the
Ministry of Skill Development and
Entrepreneurship.

How many of the above statements are

correct?

(@) Only one (b) Only two
(c) All three (d) None
With reference to ports in news,
consider the following pairs:
Ports Countries
1. Murmansk Port Russia
2. Izmail Port Turkey
3. Ningbo Zhoushan Port:  China
4. Busan Japan

Which of the pairs given above are
correctly matched?

(@) 1and 3 only

(b) 1 and 4 only

(c) 2 and 3 only

(d) 2 and 4 only

With reference to Pradhan Mantri Jan
Dhan Yojana (PMJDY) scheme, consider
the following statements:

70.

71.

72.

73.

1. There is no requirement to maintain
any minimum balance in PMJDY
accounts.

2. Interest is earned on the deposit in
these accounts.

3. These accounts are eligible for Micro
Units Development & Refinance
Agency Bank (MUDRA) scheme.

How many of the above statements are

correct?

(@) Only one (b) Only two
(c) All three (d) None
With reference to the system

of Ayurveda, Yoga & Naturopathy,

Unani, Siddha, Sowa Rigpa and

Homoeopathy (AYUSH), consider the

following statements :

1. "Sowa-Rigpa" is commonly known as
the Amchi system of medicine.

2. Homoeopathy is founded on the stated
principle of 'like cures like'.

3. The Unani system of medicine finds
mention in Sangam Literature.

How many of the above statements are

correct?

(@ Only one

(c) All three

(b) Only two
(d) None

Which of the following subjects are not
mentioned in the state list under the
“Schedule Seven” of the Indian
constitution?

1. Education

2. Forest

3. Agriculture

4. Drugs and Poisons

5. Electricity

Select the correct answer using the code
given below:

(@ 1,3 and 5 only

(b) 2, 3 and 4 only

(€)1,3,4and 5 only

(d)1,2,3,4and5

With reference to the “Char Dham”
situated in Uttarakhand, consider the
following places:

1. Yamunotri 2. Badrinath

3. Kedarnath 4. Gangotri

What is the correct chronological order of
the above places from east to west?

(@) 2-3-1-4 (b) 3-2-1-4

(c) 2-3-4-1 (d) 3-1-4-2

With reference to the Compensatory
Afforestation Fund Management and
Planning Authority (CAMPA), consider
the following statements:

1. Comptroller and Auditor- General of
India (C&AG) can audit both National
and States CAMPA Authorities.

2. The monitoring of CAMPA activities in
States are carried out through e-
Green watch web portal.

3. The CAMPA funds are established
under the public accounts of India and
the public accounts of each State.
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74.

75.

76.

77.

4. The national funds receive 90% of the
payments of the net present value,
while the state fund receives the
remaining 10%.

How many of the above statements are

correct?

(@) Only one

(c) Only three

(b) Only two
(d) All four

Consider the following statements
regarding Agricultural Marketing and
Farm Friendly Reforms Index:

1. It has been launched in order to
harness the untapped potential of
marketing in Agricultural
development.

2. It is a holistic index covering all the
states in order to spur the agricultural
productivity.

3. One of the parameters of the index
promotes the states to adopt
stringent measures regarding felling
and transit of trees grown on private
land.

How many of the statements given above

are correct?

(@) Only one

(c) All three

(b) Only two
(d) None

Which of the following is correct about

Yuva Sahakar?

(@) A scheme for school children to make
free from stress.

(b) A portal has been launched against
the child sex abuse.

(c) Cooperative Enterprise Support and

Innovation Scheme for attracting
them to cooperative  business
ventures.

(d) None of the above

Which of the following is correct about

ARPIT?

(@ An initiative of online professional
development of higher education

faculty using the platform of
SWAYAM.
(b) Flagship leadership development

training programme for second level
academic functionaries.

(c) Itis atemple entry movement by Azad
foundation to break the long term
prejudice against women.

(d) None of the above

Consider the following statements
about the Indian Ocean Naval
Symposium:

1. Itis a biennial event and was launched
by the Indian Navy.

2. It envisages for India's permanent
membership in UN Security Council.
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78.

79.

80.

81.

3. The theme for this year was the
development of India’'s Sagarmala
project.

How many of the statements given above

are correct?

(a) Only one (b) Only two
(c) All three (d) None
Consider the following statements

about the Ganga Gram project:

1. It was launched by the Ministry of
Environment, Forest and Climate
Change.

2. Itis implemented in only those states
where the river Ganga flows.

3. It envisages achieving Open
Defecation Free  target and
implementation of solid and liquid
waste management.

How many of the statements given above

are correct?

(@) Only one (b) Only two
(c) All three (d) None
Which of the following is correct about

GROWTH-India telescope?

(@ It is the country’s first robotic
telescope to observe dynamic or
transient events in the universe.

(b) It is the country’s first robotic
telescope to observe the positioning
of remote sensing satellite in the
space.

(c) It is the country's first telescope to
measure the albedo effect.

(d) None of the above

Consider the following statements

about the Global Compact for

Migration:

1. It is the first-ever UN global
agreement on such  common
approach.

2. It aims to stop inter country migration
by solving the issues of the countries

in conflict.

3. Austria, Hungary and the Czech
Republic has agreed on this pact
recently.

How many of the statements given above
are correct?

(a) Only one (b) Only two
(c) All three (d) None
Consider the following statements

about the "Atmosphere & Climate
Research-Modelling Observing
Systems & Services" (ACROSS) scheme:
1. Ministry of Earth Sciences in
collaboration with IIT, Delhi and Indian
agricultural and Research institute is
implementing this scheme.

82.

83.

84.

85.

2. The scheme will ensure transfer of
commensurate benefits to Agro-
meteorological and Aviation services.

Which of the statements given above

is/are correct?

(@ 1only

(c) Both 1and?2

(b) 2 only
(d) Neither 1 nor 2

Consider the following statements

about Radiation Pollution:

1. Radiation emanating from the mobile
communication technology is capable
to cause male infertility.

2. Food irradiation is the phenomenon
which makes food radioactive due to
its prolonged exposure to
microwaves.

Which of the statements given above

is/are correct?

(@ 1only

(c) Both 1and?2

(b) 2 only
(d) Neither 1 nor 2

Consider the following statements with

reference to the Charter Act 1853:

1. It separated the legislative and
executive functions of the Governor-
General’s council.

2. It introduced local representation in
the Indian (Central) Legislative
Council.

3. British parliament enjoyed discretion
over the term and extension of
company's rule on Indian territories.

4. It was the last charter act passed for
East India Company.

How many of the statements given above

are correct?

(@) Only one (b) Only two
(c) Only three (d) All four
Consider the following statements

about Government of India Act of 1858:

1. It abolished the East India Company
and transferred the powers of
Government to the British Crown.

2. It introduced the system of Double-
Government by allowing Court of
director to manage commercial affairs
and Board of control to manage
political affairs. .

3. It discontinued the office of Secretary
of State for India who had complete
authority and control over Indian
administration, introduced under
1858 act.

How many of the statements given above

are incorrect?

(a) Only one

(c) All three

(b) Only two
(d) None

With reference to inter-state councils,
consider the following statements:

www.ksgindia.com

86.

87.

88.

89.

1. Parliament is the sole authority to
establish such council.

2. Its decisions are binding in nature.

3. The council’s function to enquire and
advice upon inter-state disputes is
complementary to the Supreme
Court's jurisdiction under Article 131.

How many of the statements given above

are correct?

(@) Only one (b) Only two
(c) All three (d) None
Consider the following pairs:

Amendments Associated changes
1. Seventh Reorganization of states
2. Ninth Transfer of Berubari

3. Tenth  : Daman and Diu made UT

How many of the pairs given above are
correctly matched?
(@) Only one
(c) All three

(b) Only two
(d) None

Consider the following initiatives:

1. 73rd Amendment Act (1992)

2. Abolition of Zamindari System

3. Minimum Wages Act (1948)

4. Abolition of Privy Purses (1971)

How many of the above initiatives were
aimed at implementing the principles of
DPSPs?

(@) Only one
(c) Only three

(b) Only two
(d)y All four

Consider the following statements:

1. Article 3 deals with the admission of
new states that are not part of the
Union of India.

2. Prior permission of the President is
not mandatory for the introduction of
a bill in parliament regarding the
changing of name of a state.

3. Cession of Indian Territory to a foreign
country  requires  constitutional
amendment.

How many of the statements given above

are incorrect?

(@) Only one

(c) All three

(b) Only two
(d) None

Consider the following statements:

1. In case of absence of the Chief Justice
of India oath to office of the President
is administered by the Vice-President.

2. For the office of the President a
person has to subscribe to an oath or
affirmation mentioned in the third
schedule of the Constitution.

Which of the statements given above

is/are correct?

(@ 1only

(c) Both 1and?2

(b) 2 only
(d) Neither 1 nor 2
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90. Consider the following statements:

91.

92.

93.

(UPSC CSE 2021)

Other things remaining unchanged,

market demand for a good might increase

if

1. price of its substitute increases

2. price of its complement increases

3. the good is an inferior good and income
of the consumers increases

4. its price falls

Which of the above statements are

correct?

(@) 1Tand 4 only

(b)2,3and 4

(c)1,3and 4

(d)1,2and 3

Consider the following statements:

(UPSC CSE 2023)

Statement-I: India’s public sector health

care system largely focuses on curative

care with limited preventive, promotive
and rehabilitative care.

Statement-II: Under India’s decentralised

approach to health care delivery, the

States are primarily responsible for

organizing health services.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-I

(b) Both Statement-I and Statement-II are
correct and Statement-II is not the
correct explanation for Statement-I

(c) Statement-I is correct but Statement-II
is incorrect

(d) Statement-1 is incorrect but Statement
Il is correct

Consider the following statements:

(UPSC CSE 2022)

1. The India Sanitation Coalition is a
platform to promote sustainable
sanitation and is funded by the
Government of India and the World
Health Organization.

2. The National Institute of Urban Affairs is
an apex body of the Minister of
Housing and Urban Affairs in
Government of India and provides
innovative solutions to address the
challenges of Urban India.

Which of the statements given above

is/are correct?

(@) 1 only

(b) 2 only

(c) Both 1and 2

(d) Neither 1 nor 2

Which one of the following statements
best describes the ‘'Polar Code'?
(UPSC CSE 2022)

94.

95.

96.

(@) It is the international code of safety for
ships operating in polar waters.

(b) It is the agreement of the countries
around the North Pole regarding the
demarcation of their territories in the
polar region.

(c) It is a set of norms to be followed by
the countries whose scientists
undertake research studies in the
North Pole and South Pole.

(d) It is a trade and security agreement of
the member countries of the Arctic
Council.

Consider the following infrastructure
sectors: (UPSC CSE 2023)

1. Affordable housing

2. Mass rapid transport

3. Health care

4. Renewable energy

How many of the above does NOPS
Sustainable Investments in Infrastructure
and Innovation (S3i) initiative focus on its
investments?

(@) Only one

(b) Only two

(c) Only three

(d) All four

Consider the following statements:

(UPSC CSE 2023)

Statement-I: Interest income from the

deposits in Infrastructure Investment

Trusts (InvITs) distributed to their investors

are exempted from tax, but the dividend is

taxable.

Statement-IL:InvITs are recognized as

borrowers under the 'Securitization and

Reconstruction of Financial Assets and

Enforcement of Security Interest Act,

2002'.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-I

(b) Both Statement-I and Statement-II are
correct and Statement-II is not the
correct explanation for Statement-I

(c) Statement-I is correct but Statement-II
is incorrect

(d) Statement-I is incorrect but Statement
Ilis correct

In India, what is the role of the Coal

Controller's Organization (CCO)? (UPSC

CSE 2022)

1. CCO is the major source of Coal
Statistics in Government of India.

2. It monitors progress of development of
Captive Coal/Lignite blocks.
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97.

98.

99.

3. It hears any objection to the
Government's notification relating to
acquisition of coal - bearing areas.

4. 1t ensures that coal mining companies
deliver the coal to end users in the
prescribed time.

Select the correct answer using the code

given below:

(@ 1,2and3

(b) 3 and 4 only

(c) 1and 2 only

(d)1,2and 4

Consider the following statements:

(UPSC CSE 2023)

Statement-I: India, despite having

uranium deposits, depends on coal for

most of its electricity production.

Statement-II: Uranium, enriched to the

extent of at least 60%, is required for the

production of electricity.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-I

(b) Both Statement-I and Statement-II are
correct and Statement-II is not the
correct explanation for Statement-1

(c) Statement-I is correct but Statement-II
is incorrect

(d) Statement-1 is incorrect but Statement
IIis correct

With reference to India's projects on
connectivity, consider the following
statements: (UPSC CSE 2023)
1. East-West Corridor under
Quadrilateral Project
Dibrugarh and Surat.

2. Trilateral Highway connects Moreh in
Manipur and Chiang Mai in Thailand
via Myanmar.

3. Bangladesh-China -India -Myanmar
Economic Corridor connects Varanasi
in Uttar Pradesh with Kunming in
China.

How many of the above statements are

correct?

(@) Only one

(c) All three

Golden
connects

(b) Only two
(d) None

Which one of the following is likely to

be the most inflationary in its effects?

(UPSC CSE 2021)

(@) Repayment of public debt

(b) Borrowing from the public to finance
a budget deficit

(c) Borrowing from the banks to finance a
budget deficit

(d) Creation of new money to finance a
budget deficit
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. Consider the following statements:

(UPSC CSE 2023)

Statement-I: In the post-pandemic recent

past, many Central Banks worldwide had

carried out interest rate hikes.

Statement-II: Central Banks generally

assume that they have the ability to

counteract the rising consumer prices via
monetary policy means.

Which one of the following is correct in

respect of the above statements?

(@) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-I

(b) Both Statement-I and Statement-II are
correct and Statement-II is not the
correct explanation for Statement-I

(c) Statement-I is correct but Statement-

Ilis incorrect

Statement-lis incorrect but Statement

Il is correct

e

1 C |26 |D |51 |C |76 A
2 A |27 |B |5 [ C |77 A
3 B |28 |B |53 |C |78 B
4 B |29 |D |54 |C |79 A
5 A |30 |D |5 | B |80 A
6 C |31 |C |5 | B |81 B
7 B |32 | C |57 |D |8 A
8 B |33 | A |58 | A |83 D
9 A |34 | C |5 |C |84 B
10 | B |35 | B |60 | D |85 A
1M A |36 | C 61 |A |86 B
12 | B |37 |C |62 | B |87 D
13 D |38 | B |63 |C |88 B
14 | C |39 |D 64 | B |89 D
15 | B |40 | C |65 | B |90 A
16 | B |41 | C 66 | B | 91 D
17 | C [ 42 | A [ 67 | A |92 B
18 | B |43 | C |68 | A |93 A
19 |C |44 |C |69 | C |9 C
20 | B |45 | B |70 | B | 95 D
21 | C |46 |B |71 | C | 96 A
22 | B |47 |B |72 | C |97 C
23 | B |48 | C |73 | C |98 D
24 | D |49 | C |74 | A |99 D
25 | C |50 |B |75 | C [100 | A

Consider the following statements

about Warli paintings:

1. It is a tribal painting originating from
the Indian state of West Bengal.

2. Warli paintings do not employ
religious iconography and is a more
secular art form.

Which of the given statements are

correct?

(@) 1 Only

(b) 2 Only
(c)Both 1 and 2
(d)None of the above

Consider the following statements

regarding the Odissi Dance:

1. In it there are a variety of gaits for
doing pirouettes and jumps and also
certain postures inspired by the
sculptures.

2. The Nangiars, who are the women folk
of Nambiar community, still follow a
strict code of this dance

Which of the above sentence/s is/are

correct?

(@ Only1

(b) Only 2

(c) Both 1and?2

(d) None of the above

Consider the following statements
regarding the Vedanta school of
thought:

1. Brahamasutra formed the basic text of
this philosophy.

2. According to this philosophy, both
brahma and atma are eternal and
indestructible.

3. It does not believe in rebirth.

How many of the statements given above

are incorrect?

(@) Only one

(c) All three

(b) Only two
(d) None

With reference to Buddhism, consider

the following statements:

1. Buddhism does not recognize the
existence of god and soul.

2. PashyamitraShunga, the brahmana
ruler cut off the Bodhi tree at Bodha
Gaya.

Which of the statements given above

is/are correct?

(@ Only 1

(b) Only 2

(c) Both1and?2

(d) None of the above

Consider the following statements

regarding The Ghadar party:

1. The Ghadar Party was established in
1913 by LalaHardayal.

2. The 1stissue of Ghadar was published
in Urdu.

3. The ideology of party was strongly
secular.

How many of the statements given above

are correct?

(@) Only one (b) Only two
(c) All three (d) None
Consider the following statements

regarding Theyyam:

1. Itis also known as Kaliyattam.

2. It is a ritual dance popular in north
Kerala

3. Theyyam incorporates dance, mime
and music.
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10.

11.

How many of the statements given above
are correct?

(@) Only one (b) Only two
(c) All three (d) None
Consider the following statements

about PanditaRamabai:

1. Ramabai founded AryaMahilaSamaj.

2. She wrote the book “The High Caste
Hindu Women".

Which of the statement/s given above

is/are correct?

(@) 1 Only

(b) 2 Only

(c) Both 1 and 2

(d)None of the above

Consider the following statements

about Gupta Empire:

1. Chandragupta [ established Gupta
Empire.

2. Gupta period is regarded as the
golden age of Indian culture.

3. Kalidasa belonged to the Gupta
period.

How many of the statements given above

are correct?

(@) Only one (b) Only two
(c) All three (d) None
Consider the following statements

about Ashoka:
1. He is also called DevanaamPiyadasi.
2.Amatyas were administrative officers of
Ashoka kingdom.

3.He supported Buddhism.

How many of the statements given above
are correct?
(@) Only one
(c) All three

(b) Only two
(d) None

Consider the following statements with
respect to Manipuri dance:

1. Manipuri dance is traditionally
performed during the Laiharaoba
festival.

2. Pungcholom is a Manipuri dance

3. Manipuri dance has been historically
performed by the Meitei community.

How many of the statements given above

are correct?

(@) Only one

(c) All three

(b) Only two
(d) None

Which of the following statement/s

is/are incorrect with respect to Tamil

Texts?

1. Kural was written by IlangoAdigal.

2 Sangam was the assembly of Tamil
poets patronized by the Pandya kings

Select the correct answer using the code

given below:

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d)None of the above
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12.

13.

Consider following statements with

respect to Pali language:

1. The earliest Buddhist works were written
in Pali

2. Paliisincluded in the 8th Schedule.

3. Tripitakas were written in Pali
language.

How many of the statements given above

are correct?

(a) Only one (b) Only two
(c) All three (d) None
Consider following statements.

1. Rekhaprasada is one of the features of
the Dravida style of architecture.

2. Vimana refers to the rising tower in
the Hindu temple architecture of
Dravida style.

3. An hindu temple is a Panchayatana
one when the main shrine s
surrounded by four subsidiary shrines

How many of the statements given above

are correct?

(a) Only one (b) Only two
(c) All three (d) None
14.Consider the following statements

15.

16.

regarding the Eighth schedule of the

Indian Constitution:

1. Initially the schedule had 14
languages which now has reached to

2. SitakantMohapatara committee was
related to this schedule.

3. Last Languages to be added to the
schedule areDogari, Bodo, maithali
and Santhali.

How many of the statements given above

are correct?

(a) Only one (b) Only two
(c) All three (d) None
Consider the following statements with

regard to National Council of Senior

Citizens:

1. It is an autonomous body headed by
the Minister of Social Justice &
Empowerment.

2. It is separate from the National
Council for Older Persons (NCOP)
which is a not for profit organization,
outside the government.

Which of the above sentence/s is/are

correct?

(@) 1only

(c) Both 1and?2

(b) 2 only
(d) Neither 1 nor 2

Consider the following statements:

1.  The Constitution of India does not
define the word ‘Minority'.

2. Therights of the minorities have been
spelt out in the Constitution in detail.

Which of the statements given above

is/are correct?

(@) 1T only

(b) 2 only

(c) Both 1 and 2

(d) None of the above

17.

18.

19.

20.

21.

22.

Consider the following statements

regarding the National Commission of

Scheduled Tribes:

1. Itis a constitutional body.

2. The Commission presents an annual
report to the President.

Which of the statements given above

is/are correct?

(@ Only1

(b) Only 2

(c) Both 1and?2

(d) None of the above

Consider the following statements:

1. Article 323-A  empowers  the
Parliament to provide for the
establishment  of  administrative
tribunals.

2. The Central Administrative Tribunal
(CAT) was set up in 1985.

Which of the statements given above

is/are correct?

(@ Only1

(b) Only 2

(c) Both1and?2

(d) None of the above

Plate tectonics is an important
geographical phenomenon, consider
the following statements regarding it:
1. Juan de Fuca plate is largely
responsible for the volcanoes at the
Pacific Northwest of the United States.
2. There are three types of plate
boundaries: divergent, convergent
and conservative.
3. All the volcanoes and earthquakes in
the world are located at plate margins.
How many of the statements given above
are correct?

(@) Only one (b) Only two
(c) All three (d) None
Consider the following statements

regarding Aryabhatta:

1. He explained scientifically the
occurrence of solar and lunar eclipses.

2. He was the author of PanchSidhantika.

3. He was the first to declare that Earth is
a sphere and rotates on its axis.

How many of the statements given above

are correct?

(@) Only one

(c) All three

(b) Only two
(d) None

Bosphorus Strait links:

(a) Mexico-Cuba

(b) Sea of Marmara and Black Sea
(c) North Sea and Baltic Sea

(d) Indonesia - Malaysia

Consider the following statements

about west wind drift:

1. Itis a current in southern hemisphere.

2. It moves from west to east.

3. Itencircles the earth, crossing Atlantic,
Indian and Pacific oceans.
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23.

24.

25.

26.

217.

28.

How many of the statements given above
are correct?
(@) Only one
(c) All three

(b) Only two
(d) None

Consider the following statements:

1. Arctic ocean comes under the global
commons.

2. The sun at the North Pole is
continuously above the horizon
during thesummer and continuously
below the horizon during the winter.

Which of the above sentence/s is/are

correct?

(@) Only 1

(b) Only 2

(c) Both 1and?2

(d) None of the above

‘Malta’, sometimes seen in the news, is
located in

(@) Mainland Europe

(b) West Africa

(c) Mediterranean Sea

(d) Gulf of Sidra

Atlas Mountains are a series of

mountain ranges that act as a divide

between which of the following

regions?

(@) The Mozambique Channel and the
Kalahandi desert.

(b) The Red Sea and the Libyan Desert.

(c) The Mediterranean basin and the
Sahara desert.

(d) The Gulf of Sidra and the Katanga

plateau.
Consider the following statements
about Tiger population:
1. India has world’'s largest tiger
population.

2. Karnataka is the leading state in tiger
population in India.

3. Tigers are listed under 'vulnerable list
by IUCN.

How many of the statements given above

are correct?

(@) Only one (b) Only two
(c) All three (d) None
Consider the following statements:

1. Doldrums is associated with the zone
of divergence of wind.

2. Tropical cyclones are associated with
a low pressure system into which
violent winds blow.

Which of the statements given above

is/are correct?

(@ Only 1

(c) Both 1and?2

(b) Only 2
(d) Neither 1 nor 2

Consider the following statements:

1. The velocity of sound in air increases
as the humidity decreases.

2. In a medium as we increase the
temperature the speed of sound
increases.
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29.

30.

31.

32.

33.

Which of the statements given above
is/are correct?

(@) Only 1

(b) Only 2

(c) Both 1and?2

(d) None of the above

Consider the following statements

about Basel norms:

1. Basel II norms will kick from 2019 in
India.

2. Basel committee on  banking
supervision formulates the guidelines
for Basel norms.

3. Basel I guidelines were based on 10
parameters.

How many of the statements given above

are correct?

(a) Only one (b) Only two
(c) All three (d) None
With reference to Ponzi scheme often

seen in news, consider the following

statements:

1. It is an investment plan in which
existing investors is paid from the
capital coming from the new
investors.

2. It is banned under the Prize Chit and
Money Circulation (Banning) Act 1978.

3. These schemes come under the
regulatory purview of SEBL

How many of the statements given above

are correct?

(@) Only one (b) Only two
(c) All three (d) None
Which of the following statement/s

is/are incorrect with respect to the

Consumer Protection Act (CPA)?

1. The CPA provides for a 3 tier approach
in resolving consumer disputes

2. National Commission handles original
complaints where the claim amount is
above Rs 20 lakhs.

Select the correct answer using the code

given below:

(@) Only 1

(b) Only 2

(c) Both1and?2

(d) None of the Above

IMF'’s South Asia Training and Technical
Assistance Center (SARTTAC) is in:

(a) Bangladesh (b) Bhutan

(¢) India (d) Maldives

Consider the followingstatementswith

regard to Lorenz Curve:

1. Gini coefficient can be found out
using this curve.

2. If a certain portion of the population
has negative wealth, the Lorenz curve
can move below the x-axis

Which of the above sentences is/are

correct?

(@) Only 1

(b) Only 2

34.

35.

36.

37.

38.

(c) Both1and?2
(d) None of the above

With reference to the Scheduled

Commercial Banks (SCBs) and Non-

Banking Financial Companies (NBFCs),

consider the following statements:

1. Unlike SCBs, NBFCs cannot accept
demand deposits.

2. Unlike SCBs, deposit insurance is not
available to depositors of NBFCs.

3. Both SCBs and NBFCs form part of the
payment and settlement system in
India.

How many of the statements given above

are correct?

(@) Only one (b) Only two
(c) All three (d) None
Consider the following statements

about Logistic Performance Index (LPI):

1. It is published by World Bank
biennially.

2. It is an index comprising of 6
components.

3. The LPI consists of both qualitative
and quantitative measures.

How many of the statements given above

are correct?

(@) Only one

(c) All three

(b) Only two
(d) None

Consider the following statements:

1. Reserve Bank of India
nationalized on 26 January, 1950

2. The borrowing programme of the
Government of India is handled by
Reserve Bank of India

Which of the statements given above

is/are correct?

(@ 1only

(c) Both1and?2

was

(b) 2 only
(d) Neither 1 nor 2

Consider the following sentences with
reference to the ‘Goods and Services
Tax Network (GSTN)":

1. Itis a private, not-for Profit Company
in which the central government and
states and Union territories together
hold 49%.

2. It is a company to provide IT
infrastructure and services to the
Central and State  Governments for
implementation of the GST.

Which of the above sentence(s) is/are

correct?

(@ Only1

(b) Only 2

(c) Both1and?2

(d) None of the above

Consider the following statements
about theWhole sale and Long-Term
Finance (WLTF) banks:

1. The banks will focus primarily on
lending to infrastructure sector and
small, medium and corporate
businesses.
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39.

40.

41.

42.

2. The banks can act as market-makers in
securities such as corporate bonds
and take-out financing

3. The bank will be requiredto maintain
CRR but not SLR.

How many of the statements given above

are correct?

(@) Only one (b) Only two
(c) All three (d) None
Consider following statements with

respect to Indian Nuclear Insurance

Pool (INIP):

1. INIP has been set up by the Nuclear
Power Corporation of India Limited.

2. It provides insurance coverage for any
nuclear liability of Operators, but not
Suppliers.

3. India became first country to set up
Nuclear Insurance Pool.

How many of the statements given above

are correct?

(@) Only one (b) Only two
(c) All three (d) None
Consider the following statements

about the Block chain technology:

1. Block chain allows users to manipulate
the ledger without the help of a third
party.

2. Block chain is a more secure way to
carry out transactions as it protects
the identities of the users.

3. The technology used for recording
various transactions in Block chain has
the potential to disrupt the financial
system.

How many of the statements given above

are correct?

(a) Only one (b) Only two
(c) All three (d) None
Consider the following statements

about Transpiration:

1. Plants transpire more rapidly at higher
temperature.

2. A Potometer can be used to study the
effect of various environmental
factors on the rate of transpiration.

Which of the statements given above

is/are correct?

(@ 1only

(c) Both1and?2

(b) 2 only
(d) Neither 1 nor 2

Consider the following statements:

1. 1 nanometre is a billionth of a meter.

2. Nanotechnology involves the ability
to see and to control individual atoms
and molecules.

Select the correct answer using the code

given below:

(@) Only 1

(b) Only 2

(c) Both 1and?2

(d) None of the above
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43.

44,

45.

46.

47.

Consider the following statements
regarding Endoplasmic reticulum of a
cell:

1. Rough Endoplasmic reticulum is
studded with millions of ribosomes.

2. Rough Endoplasmic reticulum s
found in the cytoplasm whereas
Smooth Endoplasmic reticulum is
found within Nucleus of cell.

3. Smooth Endoplasmic reticulum is
associated with lipid (fat) manufacture
and  metabolism and  steroid
production hormone production.

How many of the statements given above

are correct?

(a) Only one (b) Only two
(c) All three (d) None
HIV disrupts the immune system by

directly infecting one of the following
immune cells, whose count is strongest
predictor of HIV progression?

(a) B-Cells (b) Neutrophils

(c) CD4 T-Cells (d) Mast cells

Consider the following statements

regarding cancer and its staging:

1. Staging of cancer is process of
knowing how far the cancer has
spread when first diagnosed

2. Two main types of staging systems
include numbering system and TNM
staging system

3. Staging helps in planning the course
of treatment

4. Stage 4 cancer involves spread of
cancer to distant organs of the body
and is called metastatic cancer

How many of the statements given above

are correct?

(a) Only one

(c) Only three

(b) Only two
(d) All four

Consider the following statements

about a particular tribe:

1. They inhabit the area of the
NilgiriMountains, in the states of Tamil
Nadu and Kerala in India.

2. The tribesmen are world renowned for
their ability to catch snakes.

3. The Wildlife officials in state of Florida
in the U.S. have recruited these
tribesmento  hunt the Burmese
pythons believed to be decimating
native mammals.

Identify the tribe:

(a) Irula (b) Kota

(c) Toda (d) Kurumbas
Consider the following statements

regarding Indian Wild Ass:

1. It is an endangered animal listed on
IUCN list.

2. It is found in the Little Rann of Kutch
in Gujarat.

3. Itis locally known as 'khur’

How many of the statements given above

are correct?

48.

49.

50.

51.

52.

53.

(@) Only one
(c) All three

(b) Only two
(d) None

Consider the following statements

about Indian one horned rhinoceros.

1. Kaziranga national park is famous for
this species.

2. Itis only found in India.

3. Indian Rhino Vision 2020 aims to
increase its population to about 3000
by 2020.

How many of the statements given above

are correct?

(a) Only one

(c) All three

(b) Only two
(d) None

Consider the following statements

regarding the Exo-MarsProgramme:

1. The Exo-Marsprogramme is a joint
endeavour between ESA (European
space agency) and the NASA.

2. "Exo" refers to the study of exobiology
—the possible existence of life beyond
Earth

Which of the above statements is/are

incorrect!

(@ Only 1

(b) Only 2

(c) Both 1and?2

(d) None of the above

The National Academic Depository
(NAD) was established to bring another
dimension to and the enhancement of
the vision of:

(a) Digital India
(c) Start Up India

(b) Make in India
(d) Stand Up India

Consider the following statements
about China-Pakistan Economic
Corridor (CPEC):

1. CPEC stretches from the autonomous
region of Xinjiang in China to the
Gwadar port in Pakistan.

2. The project is being funded by World
Bank.

Which of the given statement/s is/are

correct?

(@) Only1

(c) Both1and?2

(b) Only 2
(d) Neither 1 nor 2

India has opposed a UN resolution
calling for a moratorium on the death
penalty because it goes against:

(@) The sovereign right of countries.

(b) Indian law

(c) Bothaandb

(d) Neither anorb

Consider the following statements

1. The Islamic or Hijri Calendar is based
purely on lunar cycles.

2. The Muslim (Hijri) year is a little
longer than the Gregorian year.

Which of the given statements is/are

correct?

(@ Only1 (b) Only 2

(c) Both1and?2 (d) Neither 1 nor2
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54.

55.

56.

57.

58.

Consider the following regarding the

Federation of Indian Chambers of

Commerce and Industry (FICCI):

1. It is a non-government, not-for-profit
organisation

2. Invest India is a public-private
partnership between Government and
FICCI

Which of the above sentence/s is/are

correct?

(@) Only 1

(b) Only 2

(c) Both1and?2

(d) None of the above

What is India's Red Line campaign?

(@) To curb over the counter use of
antibiotics

(b) To have a Red Line after yellow line at
the traffic stops.

(c) To develop Naxal affected areas.

(d) To stop the killing of animals.

Consider the following statements
about Vijaya Lakshmi Pandit:
1. She was appointed as the president of

United Nation General Assembly
(UNGA)
2. She formed All India Women's

Conference (AIWC)
Which of the following given above is/are
correct?
(@) Only 1
(c) Both1and?2

(b) Only 2
(d) Neither 1 nor 2

Consider the following statements
regarding the Global Hunger Index
(GHI):

1. GHI is a multidimensional statistical
tool to measure and track global
hunger.

2. ltis calculated annually by the World
Bank.

3. A per GHI 2023, India's hunger
situation is rated as “serious.”

How many of the statements given above

are correct?

(@) Only one (b) Only two
(c) All three (d) None
Consider the following statements

regarding objective of National

Bamboo Mission:

1. To promote the growth of the
bamboo sector through an area based
regionally differentiated strategy.

2. To promote, develop and disseminate
technologies through a seamless
blend of traditional wisdom and
modern scientific knowledge.

Which of the statements given above

is/are correct?

(@) Only 1

(b) Only 2

() 1and 2 Both

(d) None of the above
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59.

60.

61.

62.

63.

With reference to ‘Udaipur
Declaration’, sometimes seen in news,
consider the following statements:

1. It was adopted at the meeting of
BRICS's Minister on Terrorism held at
Udaipur.

2. It laid bare the common thread of
challenges on the issue of terrorism.

Which of the statements given above

is/are correct?

(@) Only 1

(c) Both 1and?2

(b) Only 2
(d) Neither 1 nor 2

With reference to the Indian economy,
demand-pull inflation can be caused /
increased by which of the following?
(UPSC CSE 2021)

1. Expansionary policies

2. Fiscal stimulus

3. Inflation-indexing wages

4. Higher purchasing power

5. Rising interest rates

Select the correct answer using the code
given below:

(@) 1,2 and 4 only

(b) 3,4 and 5 only

() 1,2,3and5only

(d) 1,2,3,4and 5

Which among the following steps is

most likely to be taken at the time of an

economic recession? (UPSC CSE 2021)

(@ Cut in tax rates accompanied by
increase in interest rate

(b) Increase in expenditure on public
projects

(c) Increase in tax rates accompanied by
reduction of interest rate

(d) Reduction of expenditure on public
projects

Which of the following activities
constitute a real sector in the economy?
(UPSC CSE 2022)

1. Farmers harvesting their crops

2. Textile mills converting raw cotton
into fabrics

3. A commercial bank lending money to
a trading company

4. A corporate body issuing Rupee
Denominated Bonds overseas

Select the correct answer using the code

given below:

(@ 1and 2 only

(b) 2,3 and 4 only

() 1,3 and 4 only

d

) 1,2,3and 4
With reference to casual workers
employed in India, consider the

following statements: (UPSC CSE 2021)

1. All casual workers are entitled for
Employees Provident Fund coverage.

2. All casual workers are entitled for
regular working hours and overtime
payment.

3. The government can by a notification
specify that an establishment or

64.

65.

66.

67.

industry shall pay wages only through
its bank account.
Which of the above statements are
correct?
(@ 1and2only
() 1and3only

(b) 2 and 3 only
(d) 1,2and 3

Consider the following statements:

(UPSC CSE 2022)

1. Vietnam has been one of the fastest
growing economies in the world in the
recent years.

2. Vietnam is led by a multi-party-political
system.

3. Vietnam's economic growth is linked to
its integration with global supply
chains and focus on exports.

4. For a long time Vietnam's low labour
costs and stable exchange rates have
attracted global manufacturers.

5. Vietnam has the most productive
eservice sector in the Indo-Pacific
region.

Which of the statements given above are

correct?

(@) 2and 4

() 1,3and 4

(b) 3and 5
(d) Tand 2

With reference to foreign-owned e-
commerce firms operating in India,
which of the following statements
is/are correct? (UPSC CSE 2022)

1. They can sell their own goods in
addition to offering their platforms as
marketplaces.

2. The degree to which they can own big
sellers on their platforms is limited.
Select the correct answer using the code

given below:

(@ 1only

(c) Both1and?2

(b) 2 only
(d) Neither 1 nor 2

In India, which one of the following

compiles information on industrial

disputes, closures, retrenchments and

lay-offs in factories employing

workers? (UPSC CSE 2022)

(a) Central Statistics Office

(b) Department for Promotion of Industry
and Internal Trade

(c) Labour Bureau

(d) National Technical
Information System

=

Manpower

Consider the following statements with

reference to India: (UPSC CSE 2023)

1. According to the ‘Micro, Small and
Medium Enterprises Development
(MSMED) Act, 2006’, the ‘medium
enterprises’ are those with
investments in plant and machinery
between Rs. 15 crore and Rs. 25
crores.

2. All bank loans to the Micro, Small and
Medium Enterprises qualify under the
priority sector.

Which of the statements given above

is/are correct?
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68.

69.

70.

71.

(@) 1only
(c) Both 1and?2

(b) 2 only
(d) Neither 1 nor 2

With reference to Water Credit’,
consider the following statements:
(UPSC CSE 2021)

1. It puts microfinance tools to work in the
water and sanitation sector.

2. It is a global initiative launched under
the aegis of the World Health
Organization and the World Bank.

3. It aims to enable the poor people to
meet their water needs without
depending on subsidies.

Which of the statements given above are

correct?

(@ 1and 2 only

(c) 1and 3 only

(b) 2 and 3 only
(d)1,2and 3

Consider the following statements:

(UPSC CSE 2023)

1. The Government of India provides
Minimum Support Price for niger
(Guizotiaabyssinica) seeds.

2. Niger is cultivated as a Kharif crop.

3. Some tribal people in India use niger
seed oil for cooking.

How many of the above statements are

correct?

(@) Only one (b) Only two
(c) All three (d) None
Which one of the following best

describes the concept of 'Small Farmer

Large Field? (UPSC CSE 2023)

(@) Resettlement of a large number of
people, uprooted from their countries
due to war, by giving them a large
cultivable land which they cultivate
collectively and share the produce.

(b) Many marginal farmers in an area
organize themselves into groups and
synchronize and harmonize selected
agricultural operations.

() Many marginal farmers in an area
together make a contract with a
corporate body and surrender their
land to the corporate body for a fixed
term for which the corporate body
makes a payment of agreed amount
to the farmers.

(d) A company extends loans, technical
knowledge and material inputs to a
number of small farmers in an area so
that they produce the agricultural
commodity required by the company
for its manufacturing process and
commercial production.

“Rapid Financing Instrument” and
“Rapid Credit Facility” are related to
the provisions of lending by which one
of the following? (UPSC CSE 2022)

(@) Asian Development Bank

(b) International Monetary Fund

(c) United Nations Environment
Programme Finance Initiative

(d) World Bank
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72.

73.

74.

75.

76.

77.

Consider the following: (UPSC CSE
2022)

1. Asian Infrastructure Investment Bank
2. Missile Technology Control Regime
3. Shanghai Cooperation Organisation
India is a member of which of the above?
(@ 1and?2only (b) 3 only
(c) 2and3only (d) 1,2and 3

Consider the following countries (UPSC
CSE 2022)

1. Armenia

2. Azerbaijan

3. Croatia

4. Romania

5. Uzbekistan

Which of the above are members of the
Organization of Turkic States?

(@ 1,2and 4 (b) Tand 3

() 2and 5 (d) 3,4and5

With reference to the "G20 Common
Framework”, consider the following
statements: (UPSC CSE 2022)

1. Itis an initiative endorsed by the G20
together with the Paris Club.

2. It is an initiative to support Low
Income Countries with unsustainable
debt.

Which of the statements given above

is/are correct?

(@) 1only

(c) Both 1and 2

(b) 2 only
(d) Neither 1 nor 2

Consider the following: (UPSC CSE
2021)

1. Foreign currency convertible bonds

2. Foreign institutional investment with

certain conditions

3. Global depository receipts
4. Non-resident external deposits
Which of the above can be included in
Foreign Direct Investments?

(@ 1,2and 3 (b) 3 only
() 2and 4 (d) 1Tand 4
Consider the following statements:

(UPSC CSE 2021)

The effect of devaluation of a currency is

that it necessarily

1. improves the competitiveness of the
domestic exports in the foreign
markets

2. increases the foreign
domestic currency

3. improves the trade balance

Which of the above statements is/are

correct?

value of

(@) 1only (b) 1Tand 2
(c) 3only (d)y 2and 3
Consider the following statements:

(UPSC CSE 2022)

1. Tight monetary policy of the US
Federal Reserve could lead to capital
flight.

2. Capital flight may increase the interest
cost of firms with existing External
Commercial Borrowings (ECBs).

3. Devaluation of domestic currency
decreases the currency risk associated
with ECBs.

Which of the statements given above are

correct?

(@) 1and 2 only

(c) 1and 3 only

(b) 2 and 3 only
(d)1,2and 3

78. With reference to the Indian economy,
consider the following statements:
(UPSC CSE 2022)

1. An increase in Nominal Effective
Exchange Rate (NEER) indicates the
appreciation of rupee.

2. An increase in the Real Effective
Exchange Rate (REER) indicates an
improvement in trade

competitiveness.

3. An increasing trend in domestic
inflation relative to inflation in other
countries is likely to cause an
increasing divergence between NEER
and REER.

Which of the above statements are

correct?

(@) 1and 2 only

(c) 1and 3 only

(b) 2 and 3 only
(d)1,2and 3

79. With reference to the expenditure made
by an organization or a company, which
of the following statements is/are
correct? (UPSC CSE 2022)

1. Acquiring new technology is capital
expenditure.

2. Debt financing is considered capital
expenditure, while equity financing is
considered revenue expenditure.

Select the correct answer using the code

given below:

(@ 1 only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

80. Consider the investments in the
following assets: (UPSC CSE 2023)

1. Brand recognition

2. Inventory

3. Intellectual property

4. Mailing list of clients

How many of the above are considered

intangible investments?

(@) Only one (b) Only two

(c) Only three (d) All four

81. Which one of the following effects of
creation of black money in India has
been the main cause of worry to the
Government of India? (UPSC CSE 2021)
(a) Diversion of resources to the purchase
of real estate and investment in luxury
housing

(b) Investment in unproductive activities
and purchase of precious stones,
jewellery, gold, etc.

(c) Large donations to political parties and
growth of regionalism
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82.

83.

84.

85.

(d) Loss of revenue to the State Exchequer
due to tax evasion

Which one of the following situations

best reflects “Indirect Transfers” often

talked about in the media recently with

reference to India?(UPSC CSE 2022)

(@ An Indian company investing in a

foreign enterprise and paying taxes to

the foreign country on the profits

arising out of its investment

A foreign company investing in India

and paying taxes to the country of its

base on the profits arising out of its

investment

(¢) An Indian company purchases
tangible assets in a foreign country
and sells such assets after their value
increases and transfers the proceeds
to India

(d) A foreign company transfers shares
and such shares derive their
substantial value from assets located
in India

(b

-

Consider the following:
2023)

1. Demographic performance
2. Forest and ecology

3. Governance reforms

4. Stable government

5. For Tax and fiscal efforts
For the horizontal tax devolution, the
Fifteenth Finance Commission used how
many of the above as criteria other than
population area and income distance?

(@) Only two (b) Only three

(c) Only four (d) All five

(UPSC CSE

Consider the following statements:

(UPSC CSE 2023)

1. The Self-Help Group (SHG) Programme
was originally initiated by the State
Bank of India by providing microcredit
to the financial deprived.

2.In an SHG, all members of a group take
responsibility for a loan that an
individual member takes.

3. The Regional Rural Banks and
Scheduled Commercial Banks support
SHGs.

How many of the above statements are

correct?

(@) Only one

(c) All three

(b) Only two
(d) None

With reference to India, consider the

following statements: (UPSC CSE 2021)

1. Retail investors through demat
accounts can invest in ‘Treasury Bills’
and ‘Government of India Debt Bonds’
in the primary market.

2. The ’‘Negotiated Dealing System-
Order Matching’ is a government
securities trading platform of the
Reserve Bank of India.
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86.

87.

88.

89.

3. The ‘Central Depository Services Ltd." is
jointly promoted by the Reserve Bank
of India and the Bombay Stock
Exchange.

Which of the statements given above

is/are correct?

(@) 1only

(c) 3only

(b) 1and 2
(d) 2and 3

With reference to Convertible Bonds,
consider the following statements:
(UPSC CSE 2022)

1. As there is an option to exchange the
bond for equity, Convertible Bonds
pay a lower rate of interest.

2. The option to convert to equity affords
the bondholder a degree of
indexation to rising consumer prices.

Which of the statements given above

is/are correct?

(@) 1only

(c) Both1and?2

(b) 2 only
(d) Neither 1 nor 2

With reference to the Indian economy,
what are the advantages of “Inflation
Indexed Bonds (IIBs)”? (UPSC CSE 2022)
1. Government can reduce the coupon
rates on its borrowing by way of IIBs.
2. IIBs provide protection to the investors
from uncertainty regarding inflation.
3. The interest received as well as capital
gains on IIBs are not taxable.
Which of the statements given above are
correct?
(@ 1and 2 only
() 1and3only

(b) 2 and 3 only
(d) 1,2and 3

In the context of finance, the term

‘beta’ refers to (UPSC CSE 2023)

(a) the process of simultaneous buying
and selling of an asset from different
platforms

(b) an investment strategy of a portfolio
manager to balance risk versus reward

(c) a type of systemic risk that arises where
perfect hedging is not possible

(d) a numeric value that measures the
fluctuations of a stock to changes in
the overall stock market.

Consider the following statements:

(UPSC CSE 2021)

1. The Governor of the Reserve Bank of
India (RBI) is appointed by the Central
Government.

2. Certain provisions in the Constitution
of India give the Central Government
the right to issue directions to the RBI
in public interest.

3. The Governor of the RBI draws his
power from the RBI Act.

Which of the above statements are

correct?

(@ 1and?2only

(b) 2 and 3 only

() 1and3only

(d) 1,2and 3

90.

91.

92.

With reference to the ‘Banks Board

Bureau (BBB)’, which of the following

statements are correct? (UPSC CSE

2022)

1. The Governor of RBI is the Chairman
of BBB.

2. BBB recommends for the selection of
heads for Public Sector Banks.

3. BBB helps the Public Sector Banks in

developing strategies and capital
raising plans.
Select the correct answer using the code
given below:

(@ 1and2only
() 1and3only

(b) 2 and 3 only
(d) 1,2and 3

“Bhashini”, the AI enabled multi

language translation tool has been

developed by which ministry?

(@) Ministry of Communications

(b) Ministry of Culture

() Ministry of Education

(d) Ministry of Electronics
Information and Technology

and

With reference to the Tea Board of

India, consider the following

statements:

1. It functions under the aegis of the
Ministry of Agriculture and Farmers

welfare.

2. This board has overseas offices
located at London, Dubai and Moscow
only.

3. The functions of the board includes
welfare of the plantation workers.
How many of the above statements are

correct?
(@) Only one
(c) All three

(b) Only two
(d) None

93. Consider the following functions:

94.

1. Renders advice to "Raksha Mantri”
and to the three services on all
scientific aspects of weapons.

2. Formulation of programmes of
scientific research in fields of
relevance to national security.

3. All matters relating to certification of
the design airworthiness of military
aircraft.

How many of the above statements are

functions of the Defence and Research

Development Organisation (DRDO)?

(@) Only one

(b) Only two

(c) All three

(d) None

With reference to Body Mass Index

(BMI), consider  the following

statements:

1. BMIis measured as weight divided by
square of height.

2. BMI of 30 or greater lands the
individual in the Obesity category.
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95.

96.

97.

98.

99.

3. The World Health Organisation has
different BMI figures for the Asian
population.

How many of the above statements are

correct?

(@) Only one

(c) All three

(b) Only two
(d) None

With reference to Multidimensional

Poverty, consider the following

statements:

1. It seeks to understand poverty beyond
monetary deprivations.

2. Lack of clean water and electricity is
also a dimension of poverty.

3. Poor quality of work is also a
dimension of poverty.

How many of the above statements are

correct?

(@) Only one

(c) All three

(b) Only two
(d) None

With reference to different types of e-
vehicles, consider the following
statements:

1. Hybrid Electric Vehicles have both an
engine and electric motor and are
known as parallel hybrids.

2. Plug-in hybrid vehicles are known as
series hybrids.

3. Fuel Cell Electric Vehicles are also
known as Zero-Emission Vehicles.
How many of the above statements are

correct?

(@ Only one (b) Only two
(c) All three (d) None
Consider the following impacts:

1. Unusual warming of surface waters in
the eastern tropical Pacific Ocean.

2. Devastating impacts on Ecuadorian and
Peruvian economies.

3. Droughts in Indonesia and Australia.

4. Above normal rainfall in India.

How many of the above events are

associated with the El Nino phenomenon?

(@) Only one (b) Only two

(c) Only three (d) All four

Which of the following is incorrect in
respect of the Wildlife Crime Control
Bureau (WCCB) of India?

(a) It works under the ambit of the Wildlife
Protection Act, 1972.

(b) It is neither a statutory body nor a
constitutional body.

(c) It assists and advises the Customs
authorities in  inspection of the
consignments of flora & fauna.

(d) It is mandated to establish a
centralized wildlife crime data bank.

With reference to recently passed
amendments in Forest Conservation
Act, 1980, consider the following
statements:
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1. Only forests classified and recorded as
such after 1980 are protected under
the law.

2. Forest land officially diverted by the
government for non forestry purposes
between 1980 and 1996 is not covered
under the law.

Which of the statements given above

is/are correct?

(@) 1only

(c) Both 1and 2

(b) 2 only
(d) Neither 1 nor 2

. Which one of the following activities

of the Reserve Bank of India is

considered to be part of 'sterilization?

(UPSC CSE 2023)

(a) Conducting "Open Market Operations'

(b) Oversight of settlement and payment
systems

(c) Debt and cash management for the
Central and State Governments

(d) Regulating the functions of Non-
banking Financial Institutions

1 B |26 [B |51 |A |76 A
2 A |27 |B |5 |C |77 A
3 A |28 |[B |53 |A |78 C
4 A |29 |[B |5 |[C |79 A
5 C |30 | B |5 |A |80 C
6 C |31 | B |5 | A |81 D
7 C |32 | C |57 |B |8 D
8 B |33 |C |58 |C]|83 B
9 C |34 | B |5 |D|s84 B
10 |C |35 | C |60 | A |85 B
11 |A |36 | B |61 | B |86 C
12 |B |37 |C |62 | A |87 A
13 |B |38 | C |63 |B |88 D
14 | C |39 |D |64 | C |89 C
15 |C |40 | C |65 | B | 90 B
16 |C |41 | C |66 | C |91 D
17 | C |42 | C |67 | B | 92 B
18 |C |43 | B |68 | C |93 C
19 |B |44 |[C |69 | C |9 C
20 | B |45 | D |70 | B |95 C
21 | B |46 |A |71 | B |96 C
22 | C |47 |B |72 | D |97 C
23 | B |48 |B |73 | C |98 B
24 | C |49 |A |74 | C |99 C
25 | C |50 |A |75 A 100 | A

Consider the following statements:

1. Off-shore winds are responsible for
the longitudinal variation in the
temperature of the oceanic waters.

2. The oceanic waters in the southern
hemisphere are warmer than the
oceans in the northern hemisphere.

Which of the statements given above
is/are correct?
(@ 1only

(c) Both1and?2

(b) 2 only
(d) Neither 1 nor 2

Consider the following pairs:
Regions - Country

1. Transnistria - Bulgaria

2. Nagorno-Karabakh - Afghanistan
3. Batken- Kazakhstan

4. Tigray - Ethiopia

How many of the pairs given above are
correctly matched?

(@) Only one pair

(b) Only two pairs

(c) Only three pairs

(d) All the four pairs

With reference to Oilseeds cultivation
and production in India, consider the
following statements:

1. More than two-thirds of the total
oilseeds cultivation area is confined to
rainfed regions.

2. The highest average contribution to
total production of oilseeds is of
groundnuts.

3. Kharif oilseed crops contribution to
total production is more than the Rabi
contribution.

How many of the statements given above

are correct?

(@ Only one

(c) All three

(b) Only two
(d) None

Consider the following statements with

reference to the Peninsular Plateau:

1. Shillong and Karbi-Anglong plateau in
the north-east are parts of the
Peninsular Plateau.

2. The general elevation of the plateau is
from the east to the west.

Which of the statements given above

is/are correct?

(@ 1only

(c) Both1and?2

(b) 2 only
(d) Neither 1 nor2

These Soils are found in the areas of
heavy rainfall and high humidity, where
there is a good growth of vegetation. A
large quantity of dead organic matter
accumulates in these areas, and this
gives a rich humus and organic content
to the soil. Organic matter in these soils
may go even up to 40-50 per cent.
These soils are normally heavy and
black in colour.

The above description corresponds to
which of the following soil types in India?
(a) Laterite Soil (b) Forest Soils

(c) Peaty Soils (d) Black Soils

Consider the following statements with

reference to the Age-Sex Pyramid:

1. Pyramid with a narrow base and a
tapered top show that the population
growth rate is usually zero or negative.
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10.

11.

12.

2. A triangular shaped pyramid with a
wide base generally represents
developed countries.

3. Age-sex pyramid with bell shape and
tapered top reflects constant
population.

How many of the statements given above

are correct?

(@) Only one (b) Only two
(c) All three (d) None
Consider the following countries:
1. Norway 2. Denmark
3. Austria 4. France

5. Germany

How many of the above countries share
their land borders with the North Sea?

(@) Only two (b) Only three

(c) Only four (d) All five

Consider the following pairs:
Tribal festival  State

1. Kail Poldu FestivalWest Bengal
2. Sarhul festival Jharkhand
3. Thisam Festival Kerala

4.

Baneshwar Festival ~ Rajasthan
How many of the pairs given above are
correctly matched?
(@) Only one pair
(c) Only three pairs

(b) Only two pairs
(d) All four pairs

Consider the following mountain

peaks:
1. Cho Oyu 2. Lhotse
3. Makalu 4. Manaslu

How many of the above fall under the
Himalayan Mountain ranges?

(@) Only one (b) Only two

(c) Only three (d) All four

If you travel by road from Dehradun
(Uttarakhand) to Erode (Tamil Nadu),
what is the minimum number of States
within India through which you can
travel, including the origin and the
destination?

@ 5 (b) 6
(7 (d) 8
Consider the following rivers:
1. Pranahita 2. Bhima
3. Shimsha 4. Manjira

How many of the above are the tributaries
of the Godavari River?
(@) Only one

(c) Only three

(b) Only two
(d) All four

The Governor of a state does not have

a constitutional discretion in which one

of the following cases?

(a) Reservation of a bill for the
consideration of the President.

(b) Recommendation for the imposition
of the President’s Rule in the state.

(c) Dismissal of the council of ministers
when it cannot prove the confidence
of the state legislative assembly.
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13.

14.

15.

16.

(d) Seeking information from the chief
minister  with  regard to the
administrative and legislative matters
of the state.

Consider the following statements with

reference to the Cabinet Committees:

1. The Original Constitution of India has
provision for their establishment.

2. The Non-Cabinet Ministers are not
debarred from their membership.

3. They sort out issues and formulate
proposals for the consideration of the
cabinet, but cannot take decisions.

4. They are based on the principles of
division of labour and effective
delegation.

How many of the statements given above

are correct?

(a) Only one

(c) Only three

(b) Only two
(d) All four

"It is introduced in the Parliament to
draw attention of the House to a
definite matter of urgent public
importance, and needs the support of
50 members to be admitted. As it
interrupts the normal business of the
House, it is regarded as an
extraordinary device. It involves an
element of censure against the
government.” The above description
corresponds to which of the following
Parliamentary devices?

(@) Adjournment Motion

(b) Calling Attention Motion

(c) Dilatory Motion
(d) Privilege Motion

Which of the following is not a part of

PART IV of the Indian Constitution?

(@) To organize agriculture and animal
husbandry on modern and scientific
lines.

(b) To promote international peace and
security and maintain just and
honourable relations between nations

(c) To protect monuments, places and
objects of artistic or historic interest
which are declared to be of national
importance.

(d) To protect and improve the natural
environment including forests, lakes,
rivers and wildlife and to have
compassion for living creatures

Consider the provisions:

1. Election of the President and its
manner.

2. Extent of the executive power of the
Union and the states.

3. Supreme Court and high courts.

4. Conferment of more jurisdiction on
the Supreme Court.

5. Elections to Parliament and state
legislatures.

How many of the above provisions of the

Constitution can be amended by Special

17.

18.

19.

20.

21.

majority of Parliament and consent of 50%
of the states?
(@) Only two

(c) Only four

(b) Only three
(d) All five

"It is a command issued by the court to
a public official asking him to perform
his official duties that he has failed or
refused to perform. It can be issued
against any public body, a corporation,
an inferior court, a tribunal or
government for the same purpose.”
The above description corresponds to
which of the following Writs?

(a) Habeas Corpus (b) Prohibition

(¢) Mandamus (d) Certiorari

Consider the following statements with
reference to the Writs issued under
article 32 and 226:

1. The Parliament under Article 32 can
empower any court to issue writs.

2. The system of ‘prerogative writs' is
borrowed from the English law.

3. The territorial jurisdiction of the
Supreme Court for the purpose of
issuing writs is wider than that of a
high court.

How many of the statements given above

are correct?

(@) Only one (b) Only two

(c) All three (d) None

With reference to the Bar Council of
India, consider the following
statements:

1. It sets standards for legal education
and grants recognition to Universities
whose degree in law will
serve as qualification for enrolment as
an advocate.

2. The Bar Council of India is a statutory
body created by the Parliament.

Which of the statements given above

is/are correct?

(@ 1only

(c) Both1and?2

(b) 2 only
(d) Neither 1 nor2

Consider the following statements
regarding the “Doctrine of Colourable
Legislation”:

1. It implies what cannot be done
directly, should also not be done
indirectly.

2. It doesn't reach out to cases of
subordinate legislation.

3. It can be applied in situations where
the power of the legislature is not
restricced by the constitutional
provisions.

How many of the statements given above

are correct?

(@) Only one (b) Only two

(c) All three (d) None

Consider the following chemicals:

1. Ketoprofen

2. Meloxicam

3. Aceclofenac
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22.

23.

24.

25.

26.

27.

4. Tolfenamic acid

5. Carprofen

How many of the above chemicals are
considered as “"Vulture Toxic drugs"?

(@) Only two (b) Only three

(c) Only four (d) All five

Which of the following option best
describes the term “liquid window"?
(@) Total blockage of light from entering
room using chemicals.

A type of a debt fund that lends to

companies for a period of up to 91

days.

(c) Saving energy of buildings using light
filtration modes in multiple layers.

(d) The proportion of highly liquid assets
held by financial institutions, to ensure
their ongoing ability to meet short-
term obligations.

(b

-

Consider the following pairs:

Vitamins Side effects of overdose

1. Vitamin A Black discoloration
of teeth

2.Vitamin C Kidney Stones

3.Vitamin D Hypercalcaemia

How many of the pairs given above are
correctly matched?
(@) Only one pair
(c) All three pairs

(b) Only two pairs
(d) None
Consider the following statements
regarding coenzymes:

1. They are inorganic compounds that
facilitate the action of enzymes.

2. They are generally vitamins or
derivatives of vitamins.

3. They are involved in the generation of
the energy molecule adenosine
triphosphate (ATP).

How many of the statements given above

are correct?

(@) Only one (b) Only two
(c) All three (d) None
Consider the following plants:

1. Yam 2. Cassava
3. Turnip 4. Garlic

5. Rutabaga

How many of the above plant's roots are
edible?

(@) Only two
(c) Only four

(b) Only three
(d) All five

Consider the following statements:

1. Eurythermal animals can function only
in a limited temperature range.

2. Mammals are an example of
Eurythermal animal.

Which of the statement given above is/are

correct?

(@ Tonly

(c) Both 1and?2

(b) 2 only

(d) Neither 1 nor 2
Consider the following statements
regarding ecotone:
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28.

29.

30.

31.

1. It is the zone of transition that
represents the boundary between two
ecosystems.

2. It has a greater number of species
than are found in either adjacent
community.

3. It contains species often not found in
the adjacent communities.

How many of the statements given above

are correct?

(a) Only one (b) Only two
(c) All three (d)None
With reference to the criteria for

designating wetland as a Ramsar site,

consider the following statements:

1. It should regularly support 20,000 or
more water birds.

2. It should support at least 10% of the
individuals in a population of one
species of water birds.

3. It should support vulnerable,
endangered, or critically endangered
species.

How many of the statements given above
are correct?

(a) Only one (b) Only two
(c) All three (d) None
Consider the following statements

regarding mangroves:

1. They can survive in both salt and fresh
water.

2. They secrete the excess salt through
blind roots.

3. Their seeds germinate in the tree
itself while still attached to the parent
tree.

4. They have higher productivity as
compared to the oceans.

How many of the statements given above

are correct?

(a) Only one

(c) Only three

(b) Only two
(d) All four

Consider the following factors:

1. High Albedo materials

Thermal mass

Wind Blocking

Human gathering

5. Permeable surfaces

How many of the above factors can lead
to the formation of Urban Heat Islands?
(@) Only two (b) Only three

(c) Only four (d) All five

Hwn

With reference to  Stenohaline
organisms, consider the following
statements:

1. They can survive in a wide range of
salinity concentrations.

2. All of the stenohaline organisms are
also known as osmoconformers.

Which of the above statements are

correct?

(@) 1only

(c) Both 1and?2

(b) 2 only
(d) Neither 1 nor 2

32.

33.

34.

35.

36.

Consider the following activities:

1. Setting up of new industries.

2. Reclamation of wetlands.

3. Harvesting of living and non-living
resources.

4. Repair of buildings.

5. Construction of Boat Jetties.

How many of the above activities are

restricted within protected wetlands as per

The Wetlands (Conservation and
Management) Rules, 20177
(@) Only two (b) Only three

(c) Only four (d) All five

This National Park has been inscribed
as India’s first “Mixed World Heritage
Site” on UNESCO World Heritage List,
by fulfilling the nomination criteria
under both natural and cultural
heritage. It exhibits one of the widest
altitudinal ranges of any protected area
worldwide. It lies within the Himalaya
global Dbiodiversity hotspot and
displays an unsurpassed range of sub-
tropical to alpine ecosystems.

Which of the following National Parks best
matches with the description given
above?

(@) Khangchendzonga National Park

(b) HemisNational park

(c) Dachigam National Park

(d) Valley of Flowers National Park

Consider the following statements with
reference to Indus Valley Civilisation
avoy:

1. The language of the IVC belongs to
the  Indo-European  family  of
languages.

2. The IVC script is borrowed from
Mesopotamian civilisation.

Which of the statements given above

is/are correct?

(@ 1only

(c) Both1and?2

(b) 2 only
(d) Neither 1 nor 2

Consider the following statements:

1. Bisapantha is a sub sect of Digambara
sect of Jainism.

2. The followers of Bisapantha support
the Dharma gurus.

3. The Bisapanthas do not follow idol
worship.

How many of the statements given above

are correct?

(@ Onlyone (b) Only two
(c) All three (d) None
Prajnaparamita Sutras,

Vimalakirtinirdesa Sutra and Sukhavati
Sutra are associated with which one of
the following?

(@) Commentary on Algebra.

(b) Mahayana texts.

(c) Books by Nayanars.

(d) Shwetambar texts.
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37.

38.

39.

40.

41.

42.

Consider the following statements with

reference to King Kanishka of Kushan

dynasty:

1. He mainly patronised Buddhism.

2. He persecuted Shaivites from his
empire.

3. During his reign Amravati school of art
emerged and Flourished.

4. He was responsible for creation of
new era.

How many of the statements given above

are correct?

(@) Only one

(c) Only three

(b) Only two
(d) All four

Consider the following statements with

reference to Rajashekhara:

1. He was the court poet of the Palas.

2. He wrote the Kavyamimamsa guide
for the poets that explains the
elements and composition of a good
poem.

Which of the statements given above

is/are correct?

(@ 1only

(c) Both1and?2

(b) 2 only
(d) Neither 1 nor 2

With reference to Chola Kingdom,
which one of the following is the
correct sequence in descending order in
terms of size?

(a) Kottams-Nadus-Mandalam.

(b) Nadus-Kottams-Mandalam.

(c) Mandalam-Kottams-Nadus.
(d) Mandalam-Nadus-Kottams.

Consider the following statements:

1. The Bijapur school of painting was
patronised by Adil Shah 1.

2. Adil Shah I was the author of the book
Nauras-nama.

3. Ibrahim II was the owner of the
manuscript called as Nujum al-Ulum.

How many of the statements given above

are correct?

(a) Only one

(c) All three

(b) Only two
(d) None

Consider the following statements:

1. The system of assignment of revenue
of a particular territory to the nobles
for their services is called Jagirdari
System.

2. During Mughal
assignments  were
Humayun.

Which of the statements given above

is/are correct?

(@ 1only

(c) Both 1and?2

times the Jagir
initiated by

(b) 2 only
(d) Neither 1 nor 2

It is the most exquisitely ornate
structure that represents the
culmination of Vijayanagara temple
architecture. It is a fully developed
temple with associated buildings like
Kalyana Mandapa and Utsava Mandapa
within a cloistered enclosure pierced
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43.

44,

45.

46.

47.

with three entrance Gopurams. This
complex also has a large Pushkarani
(stepped tank) with a Vasantotsava
mandapa (ceremonial pavilion at the
centre), wells and a network of water
channels.

The above description is associated with
which one of the following temples of
Vijaynagara Empire?

(@) Krishna temple complex.

(b) Achyutaraya temple complex.

(c) Pattabhirama temple complex.

(d) Vitthala temple complex.

Which one of the following statements

is correct with respect to ‘Treaty of

Ryswick?

(@) Surrender of all Gorkha Territories by
Nepal to the East India Company.

(b) The treaty restored Pondicherry to the

French.

(c) Itlaid the foundation French East India
Company.

(d) It ended the Austrian War of
Succession.

Consider the following statements:

1. The kingdom of Hyderabad was
founded in 1724 by Mughal noble
Chin Qulich Khan.

2. Mughal emperor Farrukhsiyar with the
help of Sayyid brothers deafeted Chin
Qulich Khan in 1726.

Which of the statements given above

is/are correct?

(@) 1only

(c) Both1and?2

(b) 2 only
(d) Neither 1 nor 2

Consider the following statements with

reference to the Pandya temple

architecture:

1. The temples consisted of Garbagraha,
ardhamandapa and mahamandapa.

2. They renovated Alagarkoil and
Jambukeswara temples.

Which of the statements given above

is/are correct?

(@) 1only

(c) Both 1and 2

(b) 2 only
(d) Neither 1 nor 2

Which among the following statements
is / are correct with respect Orientalist-
Anglicist Controversy:

1. The Anglicists wanted that the
government spending on education
should be exclusively for modern
studies.

2. The Orientalists argued for teaching
Indian traditional education for
students to take up jobs.

Select the correct answer using the codes

given below:

(@) 1only

(c) Both 1and 2

(b) 2 only
(d) Neither 1 nor 2

Aegean Sea is bordered by which of the
following countries?
(@) Turkey and Greece

48.

49.

50.

51.

52.

(b) Greece and Italy
(c) Italy and France
(d) Greece and Bulgaria

Consider the following countries:
1. United State of America

2. United Kingdom

3. South Korea

4. Canada

5. Australia

6. New Zealand

7. Japan

How many of the above countries are part
of the Five Eyes Alliance?

(@) Only three
(c) Only five

(b) Only four
(d) All seven

Consider the following statements

regarding “Wormhole”:

1. It is a cosmic body with extreme
gravity.

2. Einstein's theory of general relativity
predicted the existence of wormholes.

3. The wormhole theory says that a
passage through space-time could
create shortcuts for long journeys
across the universe.

How many of the statements given above

are correct?

(@) Only one

(c) All three

(b) Only two
(d) None

The Theme of India’s G-20 Presidency
i.e, “VasudhaivaKutumbakam” s
drawn from which of the following
ancient texts?

(a) Rigveda

(b) Maha Upanishad

(c) TalvakarAranyak

(d) Ashtadhyayi

Consider the following statements

regarding nuclear fusion reaction:

1. It is the process by which two light
atomic nuclei combine to form a
single heavier one while releasing
massive amounts of energy.

2. It takes place in a state of matter
called plasma.

3. The sun, along with all other stars, is
powered by this reaction.

How many of the statements given above

are correct?

(@) Only one

(c) All three

(b) Only two
(d) None

Consider the following statements with
reference to the methods of measuring
national income in India:

1. The Income method measures
national income from the side of
payments made to the primary factors
of production, for their productive
services in an accounting year.

2. The Expenditure method does not
consider private consumption owing
to large unorganised private sector in
India.
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53.

54.

55.

56.

Which of the statements given above
is/are correct?
(@ 1only

(c) Both1and?2

(b) 2 only
(d) Neither 1 nor 2

Consider the following statements
regarding the Purchasing Power Parity
(PPP):

1. They are relatively stable over time

whereas market rates are more
volatile.
2. These are relevant only for

internationally traded goods whereas
market rates are relevant for both
domestic and internationally traded
goods.
Which of the statements given above
is/are incorrect?
(@) 1 only
(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

Consider the following statements with

reference to GDP deflator:

1. The ratio shows the extent to which
the increase in gross domestic
product has happened on account of
higher prices rather than increase in
output.

2. It covers limited commodity baskets
of goods in an economy.

3. GDP deflator data is available only on
a quarterly basis along with GDP
estimates, whereas consumer price
index (CPI) data is released every
month.

How many of the statements given above

are correct?

(@) Only one

(c) All three

(b) Only two
(d) None

Consider the following statements:

1. Under notice money market, funds are
transacted for the period between 2
days and 14 days.

2. The Indian government has banned
non-banking financial institutions to
participate in the call money market as
lenders.

Which of the statements given above

is/are correct?

(@ 1only

(c) Both 1and?2

(b) 2 only
(d) Neither 1 nor 2

What are the different kinds of issues
that can be made by an Indian company
in primary market?

1. Public issue.

2. Rights issue.

3. Composite Issue.

4. Bonus issue.

5. Private placement.

Select the correct answer using the code
given below:

(@ 1,2and5only (b) 2,3 and4only
(¢ 1,3and4only (d) 1,23 4and5
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58.

59.

60.

61.

Consider the following statements with
reference to Qualified Foreign Investors
(QFI):
1. They do not include
Institutional Investor (FII).

2. An NRI can make investments
simultaneously through the QFI route
and portfolio investment scheme (PIS)
route.

3. The total shareholding by a QFI
cannot exceed five percent of the
paid-up equity capital of any company
at any point of time.

How many of the statements given above

are correct?

(a) Only one

(c) All three

Foreign

(b) Only two
(d) None

Consider the following statements:

1. The Nominal Effective Exchange Rate
(NEER) is a weighted average of
bilateral nominal exchange rates.

2. An increasing REER indicates that a
country is losing its competitive edge.

Which of the statements given above

is/are correct?

(@) 1only

(c) Both1and?2

(b) 2 only
(d) Neither 1 nor 2

Consider the following statements with
reference to the Prime Minister's
Employment Generation Programme
(PMEGP):

1. It is implemented by the Khadi and
Village Industries Commission (KVIC).

2. Under this programme maximum cost
of project in manufacturing sector is
Rupees 25 lakhs.

3. Any individual with graduate degree
can apply for the business sector
financial assistance with 10 lakh as a
maximum limit.

How many of the statements given above

are correct?

(a) Only one (b) Only two
(c) All three (d) None
Which one of the following is the best

rationale by the Reserve Bank of India

(RBI) for allowing non-bank entities to

set up White Label ATMs (WLAs) in

India?

(@) WLA's requires low maintenance as
compare to Brown Label ATM's.

(b) To reduce the dominance of Banks in
Metro cities.

(¢) The Non-bank entities does not
charge any transaction fees on use of
ATM in semi urban area; hence it helps
in financial accessibility.

(d) To increase the geographical spread
of ATMs in semi urban and rural areas.

The periodic labour force survey comes

under which one among the following?

(a) Niti Aayog

(b) Ministry  of Personnel
Grievances and Pensions

Public

62.

63.

64.

(c) National Statistical Office (NSO).
(d) Ministry of Labour and Employment.

Consider the following statements with

reference to Mutual Funds:

1. SEBI regulates, supervises and
formulates policies for mutual funds.

2. The mutual funds sponsored by
private sector entities are not allowed
to enter the capital market, owing to
large scale frauds.

Which of the statements given above

is/are correct?

(@ 1only

(c) Both 1and?2

(b) 2 only
(d) Neither 1 nor 2

Which of the following mechanisms can

be deployed to reduce inflationary gap

in the economy?

1. Reduction in the
spending

2. Decrease in tax rates

3. Reduction in transfer payments

4. Issues of bonds and securities

Select the correct answer using the codes

given below:

(@ 1and2only

() 1,3,and 4 only

government

(b) 2,3 and 4 only
d) 1,2,3and 4

With reference to ‘Urban Cooperative
Banks’ in India, consider the following
statements:

(UPSC CSE 2021)

1. They are supervised and regulated by
local boards set up by the State
Governments.

2. They can issue equity shares and
preference shares.

3. They were brought under the purview
of the Banking Regulation Act, 1949
through an Amendment in 1966.

Which of the statements given above

is/are correct?

(@ 1only

(¢) 1and3only

(b) 2 and 3 only
(d) 1,2and 3

65. Indian Government Bond Yields are

influenced by which of the following?

(UPSC CSE 2021)

1. Actions of the United States Federal
Reserve

2. Actions of the Reserve Bank of India

3. Inflation and short-term interest rates

Select the correct answer using the code

given below:

(@ 1and2only

(b) 2 only

(c) 3only

(d) 1,2and 3

66. The money multiplier in an economy

increases with which one of the

following? (UPSC CSE 2021)

(@) Increase in the Cash Reserve Ratio in
the banks

(b) Increase in the Statutory Liquidity
Ratio in the banks
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(c) Increase in the banking habit of the
people

(d) Increase in the population of the
country

67. In India, the central bank’s function as

the ‘lender of last resort’ usually refers

to which of the following?

(UPSC CSE 2021)

1. Lending to trade and industry bodies
when they fail to borrow from other
sources

2. Providing liquidity to the banks having
a temporary crisis

3. Lending to governments to finance
budgetary deficits

Select the correct answer using the code

given below:
(@ 1and?2 (b) 2 only
() 2and 3 (d) 3 only

68. In India, which one of the following is

responsible for maintaining price
stability by controlling

inflation?

(UPSC CSE 2022)

(@) Department of Consumer Affairs

(b) Expenditure Management
Commission

(c) Financial Stability and Development
Council

(d) Reserve Bank of India

69. With reference to the Indian economy,

consider the following statements:

(UPSC CSE 2022)

1. If the inflation is too high, the Reserve
Bank of India (RBI) is likely to buy
government securities.

2. Ifthe rupee is rapidly depreciating, RBI
is likely to sell dollars in the market.

3. If interest rates in the USA or
European Union were to fall, that is
likely to induce RBI to buy dollars.

Which of the statements given above are

correct?

(@ 1and 2 only

() 1and3only

(b) 2 and 3 only
(d) 1,2and 3

70. Consider the following statements:

71.

(UPSC CSE 2022)

1. In India, credit rating agencies are
regulated by the Reserve Bank of
India.

2. The rating agency popularly known as
ICRA is a public limited company.

3. Brickwork Ratings is an Indian credit
rating agency.

Which of the statements given above are

correct?

(@ 1and2only (b) 2 and 3 only

() 1and3only (d) 1,2and 3

With reference to the Central Bank

digital currencies, consider the

following statements:(UPSC CSE 2023)

1. It is possible to make payments in a
digital currency without using US
dollar or SWIFT system.
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2. A digital currency can be distributed
with a condition programmed into it
such as time-frame for spending it.

Which of the statements given above

is/are correct?

(@) 1only

(c) Both 1and?2

(b) 2 only
(d) Neither 1 nor 2

Consider the following markets:

(UPSC CSE 2023)

1. Government Bond Market

2. Call Money Market

3. Treasury Bill Market

4. Stock Market

How many of the above are included in
capital markets?
(@) Only one
(c) Only three

(b) Only two
(d) All four

73. With reference to Non-Fungible Tokens

74.

75.

(NFTs), consider the

statements: (UPSC CSE2022)

1. They enable the digital representation
of physical assets.

2. They are unique cryptographic tokens
that exist on a blockchain.

3. They can be traded or exchanged at
equivalency and therefore can be
used as a medium of commercial
transactions.

Which of the statements given above are

correct?

(@ 1and 2 only

() 1and3only

following

(b) 2 and 3 only
(d)y 1,2and 3

Which one of the following factors
constitutes the best safeguard of
liberty in a liberal democracy?  (UPSC
CSE 2021)

(@) A committed judiciary

(b) Centralization of powers

(c) Elected government

(d) Separation of powers

Consider the

statements:(UPSC CSE 2021)

1. 'Right to the City' is an agreed human
right and the UN-Habitat monitors the
commitments made by each country
in this regard.

2. 'Right to the City’ gives every
occupant of the city the right to
reclaim public spaces and public
participation in the city.

3. 'Right to the City’ means that the State
cannot deny any public service or
facility to the unauthorized colonies in
the city.

Which of the statements given above

is/are correct?

(@ Tonly

() Tand?2

following

(b) 3 only
(d)y 2and 3

76. Which one of the following best defines

the term ‘State’?(UPSC CSE 2021)

(@) A community of persons permanently
occupying a  definite  territory
independent of external control and
possessing an organized government

77.

78.

79.

80.

81.

(b) A politically organized people of a
definite territory and possessing an
authority to govern them, maintain
law and order, protect their natural
rights and safeguard their means of
sustenance

(¢) A number of persons who have been
living in a definite territory for a very
long time with their own culture,
tradition and government

(d) A society permanently living in a
definite territory with a central
authority, an executive responsible to
the central authority and an
independent judiciary

What is the position of the Right to

Property in India? (UPSC CSE 2021)

(@) Legal right available to citizens only

(b) Legal right available to any person

(c) Fundamental Right available to
citizens only

(d) Neither Fundamental Right nor legal
right

Constitutional

(UPSC CSE 2021)

(@ A representative government of
nation with federal structure

(b) A government whose Head enjoys
nominal powers

(c) Agovernment whose Head enjoys real
powers

(d) A government limited by the terms of
the Constitution

government means:

Constitutional

(UPSC CSE 2021)

(@ A representative government of
nation with federal structure

(b) government whose Head
nominal powers

() Agovernment whose Head enjoys real
powers

(d) A government limited by the terms of
the Constitution

government means:

enjoys

Which one of the following factors
constitutes the best safeguard of
liberty in a liberal democracy?
(UPSC CSE 2021)

(@ A committed judiciary

(b) Centralization of powers

(c) Elected government

(d) Separation of powers

We adopted parliamentary democracy

based on the British model, but how

does our model differ from that model?

(UPSC CSE 2021)

1. As regards legislation, the British
Parliament is supreme or sovereign
but in India, the power of the
Parliament to legislate is limited.

2. In India, matters related to the
constitutionality of the Amendment of
an Act of the Parliament are referred
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82.

83.

84.

85.

to the Constitution Bench by the
Supreme Court.
Select the correct answer using the code
given below.
(@ 1only
(c) Both 1and?2

(b) 2 only
(d) Neither 1 nor 2

Consider the following statements:

(UPSC CSE 2021)

1. 21%February is declared to be the
International Mother Language Day
by UNICEF

2. The demand that Bangla has to be one
of the national languages was raised
in the Constituent Assembly of
Pakistan.

Which of the above statements is/are

correct?

(@ 1only

(c) Both1and?2

(b) 2 only
(d) Neither 1 nor 2

With reference to India, consider the

following statements:(UPSC CSE 2022)

1. Government law officers and legal
firms are recognized as advocates, but
corporate  lawyers and  patent
attorneys  are  excluded  from
recognition as advocates.

2. Bar Councils have the power to lay
down the rules relating to legal
education and recognition of law
colleges.

Which of the statements given above

is/are correct?

(@ 1only

(c) Both1and?2

(b) 2 only
(d) Neither 1 nor 2

Which one of the following statements

best reflects the Chief purpose of the

'Constitution’ of a country? (UPSC CSE

2023)

(@) It determines the objective for the
making of necessary laws.

(b) It enables the creation of political
offices and a government.

(c) It defines and limits the powers of
government.

(d) It secures social justice, social equality
and social security

Consider the following statements in

respect of the National Flag of India

according to the Flag Code of India,

2002: (UPSC CSE 2023)

Statement-I: One of the standard sizes of

the National Flag of India is 600 mm x 400

mm.

Statement-II: The ratio of the length to

the height (width) of the Flag shall be 3: 2.

Which one of the following is correct in

respect of the above statements?

(@) Both Statement-I and Statement-II are
correct and Statement-IL is the correct
explanation for Statement-I

(b) Both Statement-I and Statement-II are
correct and Statement-II is not the
correct explanation for Statement-I

DELHI VN: 9717380832 &DELHI ORN: 9811293743 | JAIPUR: 8290800441 | BHOPAL: 7509975361| INDORE: 9893772941
| BENGALURU: 7619166663 | HYDERABAD: 79960 66663 | KOLKATA: 9007709895 | IMPHAL: 9650245599

Page 23



10000 PT Questions Part — 2 of 2

A

KSG

86.

87.

8s.

(c) Statement-I is correct but Statement-
Il is incorrect

(d) Statement-I is incorrect but
Statement-II is correct

Consider the following statements:

(UPSC CSE 2023)

Statement-I: The Supreme Court of India

has held in some judgements that the

reservation policies made under Article

16(4) of the Constitution of India would be

limited by Article 335 for maintenance of

efficiency of administration.

Statement-II:  Article 335 of the

Constitution of India defines the term

‘efficiency of administration'.

Which one of the following is correct in

respect of the above statements?

(@) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-I

(b) Both Statement-I and Statement-II are
correct and Statement-II is not the
correct explanation for Statement-I

(c) Statement-I is correct but Statement-
Ilis incorrect

(d) Statement-I is incorrect but
Statement-II is correct

With reference to Home Guards,
consider the following statements:
(UPSC CSE 2023)

1. Home Guards are raised under the
Home Guards Act and Rules of the
Central Government.

2. The role of the Home Guards is to
serve as an auxiliary force to the police
in maintenance of internal security.

3. To prevent infiltration on the
international border/coastal areas, the
Border Wing Home Guards Battalions
have been raised in some States.

How many of the above statements are

correct?

(@) Only one (b) Only two
(c) All three (d) None
Consider the following organizations/

bodies in India: (UPSC CSE 2023)

1. The National Commission for
Backward Classes

2. The National Human  Rights
Commission

3. The National Law Commissions

4. The National Consumer Disputes
Redressal Commission

How many of the above are constitutional

bodies?

(@) Only one

(c) Only three

(b) Only two
(d) All four

89.

90.

91.

92.

With reference to 'Scheduled Areas’ in
India, consider the following
statements: (UPSC CSE 2023)

1. Within a State, the notification of an
area as Scheduled Area takes place
through an Order of the President.

2. The largest administrative unit
forming the Scheduled Area is the
District and the lowest is the cluster of
villages in the Block.

3. The Chief Ministers of the concerned
States are required to submit annual
reports to the Union Home Ministry
on the administration of Scheduled
Areas in the States.

How many of the above statements are

correct?

(@) Only one

(c) All three

(b) Only two
(d) None

If a particular area is brought under the

Fifth Schedule of the Constitution of

India, which one of the following

statements best reflects the

consequence of it (UPSC CSE 2022)

(@) This would prevent the transfer of land
of tribal people to non-tribal people.

(b) This would create a local self-
governing body in that area.

(c) This would convert that area into a
Union Territory.

(d) The State having such areas would be
declared a Special Category State.

With referenceto the Bodhisttavas,

consider the following statements:

1 They were the people who attained
the enlightenment.

2. They restricted themselves living in
complete isolation and meditated in
peace after achieving enlightenment.

Which of the statements given above

is/are correct?

(@ 1only

(c) Both1and?2

(b) 2 only
(d) Neither 1 nor2

Consider the following statements

regarding the Satavahanas:

1. They used coins made of Gold.

2. Satavahana rulers promoted
Buddhism.

3. Military and feudal character of
administration was an adoption from
the Mauryan administration.

4. Prakrit was the official language of
Satavahanas.

How many of the statements given above

are correct?

(@) Only one

(c) Only three

(b) Only two
(d) All four
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93.

94.

95.

96.

97.

Consider the following statements

about the Ahom kingdom:

1. The Ahoms migrated to the
Brahmaputra valley fromthe present
day Mongolia.

2. Paiks were the forced labourers in the
Ahom Kingdom.

3. Almost all the adult males served in
the army during the war.

How many of the statements given above
are correct?

(@) Only one (b) Only two
(c) All three (d) None
Which of the following is correct about

bandagan in Medieval India?

(a) Slaves purchased for military service

(b) Slaves used for the household work

(c) Mortgage system in financial system
used during Khalji's regime

(d) Administrative head of the justice
department

Consider the following statements:
1. In the Post Gupta period, Hindu
divinities were arranged in grades and

hierarchy.

2. In  Southern India, Bhakti was
conceived as a complete surrender to
their god.

3. Tantricism outcasted both women
and sudras into its ranks.

How many of the statements given above

are correct?

(@) Only one (b) Only two
(c) All three (d) None
The term Rastra and territorial

administration appeared in the Later

Vedic period. Consider the following

statements about the changes which

took place in the Later Vedic period:

1. Standing army appeared in this
period.

2. Shudras never participated in royal
rituals.

3. The Four ashram system was well
established.

4. Queens could take part in coronation
ceremony of kings.

How many of the statements given above

are incorrect?

(@) Only one

(c) Only three

(b) Only two
(d) All four

Consider the following pairs:
Philosopher Theory

1. Kapila VachanaSahitya

2. Charvaka Lokayata

3. Basava Sankhya

How many of the pairs given above are
correctly matched?
(@) Only one
(c) All three

(b) Only two
(d) None
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98. With respect to the Medieval India,
trabeate is a Style of?
(a) Dance (b) Music
(c) Painting (d) Architecture

99. With reference to ancient history of
south India, consider the following
statements:

1. Rulers organised army and paid them
salaries regularly.

2. A number of local assemblies were
prevalent during Pallavas period
which looked after irrigation.

3. The organization of merchants was
known as nagaram.

How many of the statements given above

are correct?

(@) Only one

(c) All three

(b) Only two
(d) None

100. With reference to the medieval period,
Consider the following pairs:

Group I Group II
1. Bakhshi Military Paymaster
2. Sadr  Minister incharge of religious
patronage
3. Faujdar Town Police commander

How many of the pairs given above are
correctly matched?
(@) Only one
(c) All three

(b) Only two
(d) None

1 A |2 |B |51 C |76 A
2 A |27 |C |5 A |77 B
3 B |28 |B |53 | B |78 D
4 A |29 |C |5 B |79 D
5 C |30 |B |5 |A |80 D
6 B |31 | D |5 |D |81 C
7 C |32 |A |57 |B |8 B
8 B |33 |A |5 | C |83 C
9 D[34 |D |5 |B |84 C
10 | A |35 | B |60 | D |85 D
11 | B |36 | B |61 | C |86 C
12 | C |37 | B |62 | A |87 B
13 |B |38 |B |63 | C |88 A
14 | A |39 |C 64 | B |89 B
15 | D |40 | B |65 | D |90 A
16 | B |41 | A 66 | C |91 A
17 | C |42 | D |67 | B |92 B
18 | C |43 | B |68 | D |93 B
19 | C |44 | A 69 | B |94 A
20 | B |45 [ C |70 | B |95 B
21 | B |46 | A |71 | C |96 C
22 | C |47 |A |72 | B |97 B
23 | B |48 | C |73 | A |98 D
24 | B |49 |B |74 | D |99 B
25 | D |5 | B |75 | D | 100 | B

With reference to India’s culture and
tradition, what is HUYEN LALLONG or
ThangTa?

(a) Martial arts in North-East India

(b) Musical tradition in North-West India
(c) Classical vocal music in South India
(d) Pietradura tradition in Central India

In Indian Cultural
Ammanaivari is a-

(@) Folk Song of South India
(b) A Tamil text of the Sangam period
(c) ASilk saree of Assam

(d) Puppetry tradition of West India

tradition,

With reference to Temple Architecture,

consider the following statements:

1. Hoysala temples are sometimes also
called as hybrid or vesaratemples.

2. Architecture of Vijayanagara was the
synthesis of both the Dravida style
and Islamic style.

Which of the statements given above

is/are correct?

(@ Only1

(c) Both1and?2

(b) Only 2
(d) Neither 1 Nor 2

With reference to Indus Valley Arts,

consider the following statements:

1. Spinning of cotton and wool was not
very common in the Indus Valley
Civilization.

2. Beads industry was well developed in
the Indus Valley Civilization.

Which of the statement/s given above

is/are correct?

(@ 1only

(¢) 1and2only

(b) 2 only
(d) Neither 1 Nor 2

BishanDas,AqaRiza and AbulHasan
were famous painters in the court of -
(@) Jahangir

(b) Shah Jahan

(c) Akbar

(d) Sher Shah Suri

Consider the following statements:

1. Mithila painting also known as
Madhubani folk art is the traditional
art from Bihar.

2. Phad paintings are
Rajasthan.

Which of the statements given above

is/are correct?

(@ Only 1

(b) Only 2

(c) Both1and?2

(d) None of the above

famous in
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7.

10.

11.

Consider the following statements

about Ahmediya Movement of 1899:

1. Tt was founded by Syed Ahmed Khan.

2. It aimed at promoting modern
education among Muslims.

3. It emphasized the universal and
humanitarian character of Islam.

How many of the statements given above

are correct?

(@) Only one

(c) All three

(b) Only two
(d) None

Consider the following statements and

mark the correct answer:

I Buddhism attracted common people,
especially from the lower orders and
women.

I Buddhism attacked the varna system
and people were admitted into
Buddhist ~ order  without  any
consideration of caste or sex.

Select the correct answer using the code

given below:

A. Both statements are correct and II is
correct explanation of L.

B. Both statements are correct but I is
not the correct explanation of L.

C. StatementIis correct and statement II
is incorrect.

D. Statement Il is correct and statement I
is incorrect.

An Ancient book RomakaSiddhanta

was written/compiled on the subject of:

(a) Medicine (b) Astronomy

() Mathematics (d) Science

Consider the following statements:

1. The origin of Drama in India can be
traced from Vedas.

2. AsuraPrajaya and AmritManthan are
great plays written by Bharata.

3. Drama declined during the age of
Buddhism.

How many of the statements given above

are correct?

(a) Only one

(c) All three

(b) Only two
(d) None

With reference to Indian Council of
Historical Research consider the
following statements:

1. It is an autonomous organization
established under the Societies
Registration Act 1860.

2. It will undertake an archaeological
exploration upon Ram Setu to
ascertain whether it is natural or
manmade.

Which of the statements given above

is/are correct?

(@) 1 only

(c) Both 1and?2

(b) 2 only
(d) Neither 1 nor 2
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12.

13.

14.

15.

16.

With reference to Vesara style of
temple architecture, consider the
following statements:

1. This style of architecture was

developed in 10th Century A.D.
2. Hoysaleshvara temple at Halebid is an
example of this style.
Which of the statements given above
is/are correct?
(@) 1only
(c) Both 1and?2

(b) 2 only
(d) Neither 1 nor2

Consider the following statements
regarding agriculture and trade during
ancient period:

1. The Indo-Greeks were the 1st to issue
coins in India which can be definitely
attributed to kings.

2. Indians acquired the craft of minting
gold coins from china.

Which of the above statement/s is/are

incorrect?

(@) Only 1

(b) Only 2

(c) Both 1and 2

(d) None of the above

Which of the following was 1st to Issue
coins attributed to kings in India?

(@) The Indo-Greeks

(b) Sakas

(c) Kushans

(d)Partians

Mogao caves are a magnificent

treasure trove of Buddhist art and are

located in Dunhuang in China. With

reference to these caves, consider the

following statements:

1. Itis a UNESCO World Heritage site

2. Itissituated at a strategic point along
the Silk Route

3. Early art in these caves resemble
Gandhara style

How many of the statements given above

are correct?

(a) Only one (b) Only two
(c) All three (d) None
In the parliament of India, the purpose

of an adjournment motion is?

(@) to allow a reduction of specific
amount in demand for grant

(b) to postpone the proceedings to check
the inappropriate or violent behaviour
on the part of some members

(c) to check opposition members collect
information from the ministers

(d) to allow a discussion on a definite
matter of urgent public importance

17.

18.

19.

20.

21.

22.

Which part of the Indian Constitution is
meant for promoting the ideal of
Political democracy?

(@) Preamble

(b) Directive Principles of State Policy

() Fundamental Duties

(d) Fundamental Rights

Consider the following statements
regarding “Doctrine of Pleasure” in
India:

1. It is a concept derived from English
Common Law.

2. The provision for this doctrine is
embodied in Article 310 of the Indian
Constitution.

3. The President’s level of satisfaction
under this doctrine has been kept
outside judicial review.

How many of the statements given above

are correct?

(@) Only one

(c) All three

(b) Only two
(d) None

Consider the following statements with
reference to National Population
Register (NPR):

1. The NPR is a mechanism outlined in a
set of rules framed under the Census
Act, 1948.

2. The NPRis a database containing a list
of all usual residents of the country.

3. It contains both the demographic and
biometric details of the residents.

How many of the statements given above

are correct?

(@) Only one

(c) All three

(b) Only two
(d) None

Which of the following ideals under the
Preamble of the Indian Constitution
embodies the idea of 'Giving each one
his/her Due'?
(@) Equality
(c) Liberty

(b) Justice
(d) Freedom

Consider the following statements with

to respect a 'National Party' in India:

1. At present there are six recognised
national parties in India.

2. A national party is the one which has
been recognised as a State party in at
least four states.

3. The National party status is given by
the Election Commission of India.
How many of the statements given above
are correct?
(@) Only one
(c) All three

(b) Only two
(d) None

Consider the following statements:
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23.

24.

25.

26.

1. Parliament may by law provide for the
adjudication of any dispute or
complaint with respect to the use,
distribution and control of waters of
any inter-state river and river valley.

2. Parliament may provide that neither
the Supreme Court nor any other
court is to exercise jurisdiction in
respect of any such dispute or
complaint.

Which of the statements given above

is/are correct?

(@) Only 1

(b) Only 2

(c) Both 1and?2

(d) None of the above

If any question arises as to whether a

member of either House of Parliament

has become subject to any of the

disqualifications specified in the

Constitution, ‘his’ decision shall be

final. ‘His’ here refers to?

(@) The President

(b) The Speaker

(¢) The Chief Election Commissioner

(d) The Prime Minister

Consider the following

about Tanzania:

1. Itis aland locked country

2. Africa's highest mountain Mount
Kilimanjaro is in  northeastern
Tanzania.

Which of the statements given above

is/are correct?

(@ Only 1

(c) Both 1and?2

statements

(b) Only 2
(d) Neither 1 nor 2

Consider the following statements on

PANAMA CANAL:

1. Itis a waterway that connects Atlantic
Ocean with Pacific Ocean.

2. It has been recently expanded so that
bigger cargoes could pass through it.

Which of the statements given above

is/are correct?

(@) Only 1

(c) Both1and?2

(b) Only 2
(d) Neither 1 nor 2

Consider the following with regard to

‘The Jal Marg Vikas Project’:

1. It has been commissioned for capacity
augmentation of National Waterway-
1 on river Ganga.

2. The project has been undertaken with
the technical and financial support of
the Asian Development Bank.

Which of the given statement/s is/are

correct?

(@ 10Only (b) 2 Only

(c) Both1and2 (d) Neither 1 nor?2
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27.

28.

Consider the following statements

about Geographical Indication (GI) tag:

1. In order to function as a GI, a sign
must identify a product as originating
in a given place.

2. A protected geographical indication
enables the holder to prevent
someone from making a product
using the same techniques as those
set out in the standards for that
indication.

Which of the given statement/statements

is/are correct?

(@ 10Only

() Both 1and?2

(b) 2Only
(d) Neither 1 nor 2

Consider following statements with

respect to the Sentinelese tribe:

1. They are one of the Particularly
Vulnerable Tribal Groups.

2. They are inhabitants of Dandakaranya
region of Chhattisgarh.

Which of the above statement/s is/are

correct?

(@ Only1

(b) Only2

() Both 1and?2

(d) None of the above

29.Consider the following countries:

30.

31.

1. Egypt
2. Israel
3. Jordon

4. Saudi Arabia
The Gulf of Agaba is divided between how
many of the above countries?

(a) Only one (b) Only two
(c) Only three (d) All four
With reference to India, Ansupa,

Hygam, Shallbugh are the names of?
(a) Glaciers

(b) Ramsar Sites

(c) Varities of Banana

(d) Bird Species

Consider the following statements

about Privatization:

1. It is the transfer of ownership,
property or business from the
government to the private sector.

2. The government ceases to be the
owner of the entity or business

3. The process in which a publicly-traded
company is taken over by a few
people is also called privatization

How many of the statements given above

are correct?

(a) Only one

(c) All three

(b) Only two
(d) None

32.

33.

34.

35.

Consider the following statements

regarding the “Guild System”:

1. The guilds sometimes acted as
trustees and bankers

2. In several cities they seem to have
issued coins, which were ordinarily
done by the sovereign powers.

Which of the above statement/s is/are

correct?

(@ Only 1

(b) Only 2

(c) Both 1and?2

(d) None of the above

Consider the following statements

regarding Effective Revenue Deficit:

1. This term was for the first time used in
FRBM act of 2003

2. The 14th Finance
Commissionobserved that the
concept of effective revenue deficit is
not recognised in the standard
government accounting process.

Which of the statements given above

is/are correct?

(@ 1only

(b) 2 only

(c) Both1and?2

(d) None of the above

Consider the following statements

about the electoral bonds:

1. The concept of electoral bonds has
been borrowed from United States Of
America.

2. These bonds will not lead to tax
exemption for an individual.

3. Electoral bonds will be issued by a
notified bank for specified
denominations.

How many of the statements given above

are correct?

(@) Only one

(c) All three

(b) Only two
(d) None

Consider the following statements:

1. To promote rapid economic
development through creation and
expansion of infrastructure.

2. To promote balanced
growth.

3. To promote import substitution.

4. To promote redistribution of income
and wealth.

How many of the above are the objectives

behind the setting up of the public

enterprises in India?

(@) Only one

(b) Only two

(c) Only three

(d) All four
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regional

36.

37.

38.

39.

Consider the following statements:

1. Aditya is India's first dedicated
scientific mission to study the sun.

2. Aditya-L1 project will enable a
comprehensive understanding of the
dynamical processes of the sun and
address some of the outstanding
problems in solar physics.

Which of the given statement/s is/are

incorrect?

(@ 1only

(b) 2 only

(c) Both 1and?2

(d) None of the above

Consider the following statements:

1. In a three parent baby, embryos are
created using a technique known as
spindle nuclear transfer.

2. The ‘three-parent’ technique allows
parents with rare genetic mutations to
have healthy babies.

3. The world's first three-parent baby
has been born in India.

How many of the statements given above

are correct?

(@) Only one (b) Only two
(c) All three (d) None
Consider the following statements

regarding GAGAN Satellite Based

Augmentation System:

1. Airport Authority of India (AAI) is also
a part of this project.

2. One of its objectives is to provide
Satellite-based Navigation services
with accuracy for civil aviation
applications.

Which of the given statement/statements

is/are correct?

(@ 10Only (b) 2 Only

() Both1and?2 (d) Neither 1 nor2

Consider the following diseases:

1. Yellow fever

2. Dengue fever

3. Malaria

4. Japanese encephalitis

Aedes aegypti is a vector for how many of
the above diseases?
(@) Only one

() Only three

(b) Only two
(d) All four

40. Cones in the eyes specifically respond to

three colors of light, these colors are:
(@) Red, yellow and green

(b) Green, yellow and blue

(c) Blue, green and red

(d) None of the above
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41. Which condition is likely to develop in a

42.

43.

44.

45.

child suffering from vitamin D
deficiency?

(a) Osteoporosis

(b) Achondroplasia

(c) Rickets

(d) Scurvy

Consider the following statements
regarding Neglected tropical diseases
(NTDs):

1. NTDs are a diverse group of
communicable diseases that prevail in
tropical and subtropical conditions.

2. It affects more than one billion people

in the world.

3. They mainly affect populations living
in  poverty, without adequate
sanitation.

How many of the statements given above
are correct?
(@) Only one
(c) All three

(b) Only two
(d) None

Consider the following vaccines:

1. BCG (Bacillus Calmette Guerin)

2. DPT (Diphtheria, Pertussis
Tetanus Toxoid)

3. OPV (oral polio vaccine)

4. Mumps vaccine

How many of the above vaccines are the

part of the Universal Immunisation

Program of India?

(@) Only one

(c) Only three

and

(b) Only two
(d) All four

Consider
regarding
Bioeconomy:

1. The mission focuses on Bioeconomy

the following statement
National Mission on

through sustainable utilization of
renewable biological resources for
food, bio-based products and
bioenergy.

2. The mission is unique to South-east
Asia and can lead to creation of jobs
in rural areas.

3. The mission has been launched by
Ministry of Environment, Forest and
Climate change.

How many of the statements given above

are correct?

(@) Only one (b) Only two
(c) All three (d) None
Which of the following statements is

incorrect?

(@) Epidemic refers to an increase, often
sudden, in the number of cases of a
disease above what is normally

46.

47.

48.

49.

expected in that population in that
area

(b) Sporadic refers to a disease that
occurs frequently and regularly.

(c) Pandemic refers to an epidemic that
has spread over several countries or
continents, usually affecting a large
number of people.

(d) Endemic refers to the constant
presence and/or usual prevalence of a
disease or infectious agent in a
population within a geographic area

Consider the following statements

about Gharial:

1. They are classified as vulnerable by
the IUCN.

2. Gharials eggs are relished by tribal
people.

3. Gharials are endemic to the Indian
sub-continent.

How many of the statements given above

are correct?

(@) Only one (b) Only two
(c) All three (d) None
Consider the following statements

regarding "Food Web":

1. It is a linear sequence of flow of
energy in a diverse ecosystem such as
Tropical ecosystem.

2. In a linear food chain, if one species
becomes extinct or one species suffers
then the species in the subsequent
trophic levels are also affected.

Which of the statement given above is/are

correct?

(@ 1only

(c) Both1and?2

(b) 2 only
(d) Neither 1 nor 2

Consider the following statements

about Yellow Throated Bulbul:

1. Ttis classified as Critically Endangered
by the IUCN.

2. Itis endemic to Rann of Kutch.

Which of the given statement/statements

is/are correct?

(@ Only 1

(c) Both1and?2

(b) Only 2
(d) Neither 1 nor2

Consider the following statements:

1. The Organisation of  Islamic
Cooperation (OIC) is the second
largest inter-governmental
organization after the United Nations.

2. India is a founder member of OIC.

Which of the given statement/statements

is/are correct?

(@ 1only

(c) Both 1and?2

(b) 2 only
(d) Neither 1 nor 2
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50.

51.

52.

53.

54.

Consider the following statements:

1. Copper was the first metal to be used
by people.

2. Bronze is an alloy of Copper and zinc.

3. Copper sulfate is used widely as an
agricultural poison and as an algicide
in water purification.

How many of the statements given above

are correct?

(@) Only one (b) Only two
(c) All three (d) None
The Global Taxonomy Initiative (GTI) is

an initiative to address the lack of
taxonomic information and expertise
available in many parts of the world. It
has been initiated by-

(@) NGO Green Peace

(b) IUCN

() United Nations Convention on
Biological Diversity (CBD)

(d) UNEP

Consider following statements with

respect to Police reforms in India:

1. Police is a State subjects where as
Public Order is a Concurrent subject.

2. The Supreme Court under Prakash
Singh case has given directives for
Police reforms.

3. One of the Directives provides for
creation of a State Security
Commission.

How many of the statements given above

are incorrect?

(@) Only one

(c) All three

(b) Only two
(d) None

Consider the following statements:

1. The Court of Arbitration for Sport
(CAS)is an institution independent of
any sports organization which
provides for services to facilitate the
settlement of sport-related disputes,
through arbitration or mediation.

2. WADA has a right of appeal to CAS for
doping cases under the jurisdiction of
organizations that have implemented
the Code

Which of the given statement/statements

is/are correct?

(@ 1only

(c) Both 1and?2

(b) 2 only
(d) Neither 1 nor 2

With reference to the Essential Services
Maintenance Act, consider the
following statements:

1. The act was enacted to provide for the
maintenance of certain essential
services and the normal life of the
community.
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55.

56.

57.

58.

2. The act enables the government to
ban strikes in certain essential
industries.

Which of the statements given above

is/are incorrect?

(@) 1only

(c) Both 1and?2

(b) 2 only
(d) Neither 1 nor 2

Consider the following statements:

1. India’s first-ever floating elementary
school is in Manipur.

2. The school will not only cater to the
need of the children but for the
illiterate adults as well.

3. The school has been opened with the
support of the NGO Pratham.

How many of the statements given above

are correct?

(a) Only one (b) Only two
(c) All three (d) None
Consider the following statements

regarding the Kimberly Process:

1. Itis ajoint governments, industry and
civil society initiative.

2. India has been
membership.

3. ltis related to gem trading.

How many of the statements given above

are correct?

awaiting  its

(@) Only one (b) Only two
(c) All three (d) None
Consider the following statements

regarding Friendship Dam:

1. Itis also known as Salma Dam.

2. ltisin Tajikistan.

3. It is situated on Hari Rud River.

How many of the statements given above
are correct?
(a) Only one
(c) All three

(b) Only two
(d) None

Consider the following sentences with
reference to the ‘Prompt corrective
action (PCA) framework’:

1. It is the regulatory action on lenders
when they fall short of capital or
exceed bad loan limits.

2. Under the framework banks are
assessed on capital ratio, asset quality
and profitability.

Which of the above sentence(s) is/are

correct?

(@) Only 1

(b) Only 2

(c) Both 1and?2

(d) None of the above

59. Consider the following statements

regarding the

PradhanMantriYuvaYojana:

1. The scheme was launched by Ministry
of Youth Affairs and Sports.

2. The scheme aims to scale Up an
Ecosystem of Entrepreneurship forthe
Youngsters.

Which of the above sentences is/are

correct?

(@ Only1

(b) Only 2

(c) Both 1and?2

(d) None of the above

60. Consider the following statements:

61.

62.

63.

1. Al Fundamental Rights are self-
executory.

2. All Fundamental Rights are available to
foreigners.

3. All Fundamental Rights are available
against the arbitrary action of the
state.

How many of the above statements are

correct?

(@) Only one

(c) All three

(b) Only two
(d) None

Consider the following:

1. Ordinance on the control of services In
New Delhi

2. Constitution (101st) Amendment Act,
2016

3. Protection of Women from Sexual
Harassment Act, 2013

4. Foreign Contribution
Amendment Act, of 2020

How many of the above are considered

(Regulation)

as ‘Laws’ under Article 13 of Indian
constitution?

(@) Only one (b) Only two

(c) Only three (d) All four

The ‘Ram Nandan Committee’ is related

to

(@) Ten Percent reservation to the
Economically Weaker Section

(b) examine the sub-categorisation of
Other Backward Classes

(c) conduct caste census
other backward classes

(d) identify the creamy layer among the
OBCs

among the

‘Right to life’ as embodied in Article 21
is not merely confined to animal
existence or survival but it includes
within its ambit the right to live with
human dignity and all those aspects of
life that go to make a man’s life

www.ksgindia.com

64.

65.

66.

67.

meaningful, and worth
living.

In which one of the following cases did
the Supreme Court give this opinion?
(@) A. K. Gopalan case

(b) Justice K. S. Puttaswamy case

() Maneka Gandhi case

(d) Kesavananda Bharati case

complete,

The preventive detention can be
extended beyond three months on the
recommendation of an advisory board
consisting of:

(@) Retired Judges of the Supreme Court

(b) Judges of the High Court

(c) Judges of the Supreme Court

(d) District Magistrate, Senior
Superintendent of Police, and Jailor of
concerned Jail.

=

Consider the following statements:
Statement - I: During the reign of Mir
Kasim, the tax revenues of Bengal
decreased.

Statement - II: The rampant misuse of

trade privileges by the East India Company

affected the Nawab's finances.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II are
correct and Statement II is the correct
explanation for Statement I

(b) Both Statement-I and Statement-II are
correct and Statement-II is not the
correct explanation for Statement-I

(c) StatementIis correct but Statement II
is incorrect

(d) StatementIis incorrect but Statement
II'is correct

With reference to Battle of Buxar,

consider the following statements:

1. The combined armies of Mir Kasim,
the Nawab of Awadh and Shah Alam
II were defeated by the English forces
under the command of Robert Clive.

2. The Treaty of Allahabad was signed
post the Battle of Buxar.

Which of the statements given above

is/are correct?

(@ 1 only

(b) 2 only

(c) Both 1and?2

(d) Neither 1 nor 2

With reference to the Treaty of Salbai,

consider the following statements:

1. The treaty guaranteed peace between
English and the Marathas for 30 years.

2. Salsette should continue in the
possession of the English.
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3. No other European power should be
supported by Peshwas.

How many of the above statements are

correct?

(@) Only one

(c) All three

(b) Only two
(d) None

68. Which of the following were the causes

69.

70.

71.

for the 1st Anglo Sikh war?

1. Rani Jindan received
treatment.

2. The Sikh Army crossed the Sutlej River.

3. Sher Singh Attariwala joined Mulraj in
the rebellion against the British.

Select the correct answer using the code

given below:

inhumane

(@ 1and?2only (b) 2 only
(c) 3only (d) 1and 3 only
With reference to the Policy of Ring

Fence, consider the

statements:

1. The allies were given assured military
support against external aggression.

following

2. Company's troops were to be
organized, maintained and
commanded by native rulers.

3. Subsidiary Forces were to be
commanded and paid by the
Company.

Which of the statements given above
is/are correct?
(@ 1and?2only
() 1only

(b) 2 only
(d) 2 and 3 only

With reference to PM Vishwakarma
scheme, consider the following
statements:

1. Itis a centrally sponsored scheme to
provide incentives for the digital
empowerment of Vishwakarma.

2. The Scheme will be conjointly
implemented by the Ministry of Micro,
Small and Medium Enterprises, the
Ministry of Skill Development and the
Ministry of Commerce.

3. Only one member from a family can
apply for the scheme.

4. Persons with outstanding loans under
PM SVANidhi and MUDRA are
ineligible for the scheme.

How many of the above statements are

correct?

(@ Onlyone

() Only three

(b) Only two
(d) All four

Consider the following statements:

1. The Ministry of Home Affairs (MHA)
conducted the Mother Tongue Survey
of India.

72.

73.

74.

2. The 8th schedule of the constitution
consists of 22 languages including
English.

3. Hindi is the second most spoken
language by native speakers in India
after Bengali.

How many of the above statements are

correct?

(@) Only one

(c) All three

(b) Only two
(d) None

With reference to caste-based census,

consider the following statements:

1. Population census is a union subject
under the seventh schedule.

2. Mandal formula was based on the
caste census conducted in 1931.

3. India has counted and published caste
data from 1951 to 2011 of the
Scheduled Castes and Scheduled
Tribes only.

How many of the above statements are

correct?

(@) Only one (b) Only two

(c) All three (d) None

With reference to The Maedical
Termination of Pregnancy

(Amendment) Act, 2021, consider the

following statements:

1. Pregnancy termination is prohibited
after 12 weeks on grounds of failure of
contraceptive method or device.

2. In India, voluntarily terminating a
pregnancy is considered a criminal
offense under the Indian Penal Code,
1860

3. All state and union territory
governments shall constitute a
Medical Board to decide pregnancy
termination after 24 weeks due to
substantial foetal abnormalities.

4. It categorizes women e.g. rape victims
who can terminate their pregnancies
between 20 and 24 weeks.

Which of the statements given above are

correct?

(@ 1and2only

() 2and3only

(b) 3 and 4 only
(d) 1,2,3and 4

Consider the following statements:
1. Economic survey 2017-18 used the

term  son-meta preference  to
describe unwanted' daughters in
India.

2. According to the National Family
Health Survey (NFHS-5) most Indians
still believe that an ideal family should
include at least one daughter.

3. According to the National Family
Health Survey (NFHS-5) Rajasthan
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75.

76.

717.

men show the strongest preference
for more sons than daughters.

4. According to the National Family
Health Survey (NFHS-5) Meghalaya
women prefer more daughters than
sons than the proportion that want
more sons than daughters.

Which of the statements given above

is/are correct?

(@ 1,2and 4 only

() 2and 3 only

(b) 1and 3 only
(d) 1,2,3and 4

With reference to Hindu Succession
(Amendment) Act, 2005 consider the
following statements:

1. In normal circumstances, a married
daughter has no right to shelter in her
parents’ house.

2. In case a female Hindu dies without
leaving a will, a property she inherited
from her father or mother would go to
the heirs of her husband.

3. All property owned by a mother may
be disposed of by sale, will, or gift
without the opinion of her children or
husband.

How many of the above statements are

correct?

(@) Only one

(c) All three

(b) Only two
(d) None

Consider the following statements:
Statements-I:Pre-Natal Diagnostic
Techniques (Regulation and Prevention of
Misuse) Act, 1994 makes it illegal to
determine the sex of the unborn child or
even use sex-selection